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--- On commencing at 9:30 a.m.
ENBRIDGE GAS DISTRIBUTION - PANEL 1, resumed


Ryan Small


Ralph Fischer


Sagar Kancharla


Jim Coyne


Julia Frayer


MS. SEBALJ:  Good morning everyone and welcome back to the second day of the technical conference in EB-2012-0459.


We are continuing with the first Enbridge panel, and we had ended with questions by Mr. Shepherd on behalf of Schools.  I see he's not here yet, but Ms. Girvan has some questions, so why don't we start with that?   Unless -- is there anything from Enbridge?


MR. CASS:  No, there is not, Kristi.  I think that would be good if we could get started.  Thank you.


MS. SEBALJ:  Great.  Thanks.
Questions by Ms. Girvan:


MS. GIRVAN:  Thank you.  I have a few brief questions.  You'll have to bear me.  I'm fighting a bad cold, so I'm a little bit -- not full on today.  Anyway, if you could turn to CCC No. 1, and it's a clarification -- just a clarification question, and you don't necessarily have to pull it up.  I don't have it with me, but it talks about the cost of the Concentric retainer, and I believe -- I'll let you get it.


MR. SCHUCH: Just to let everyone know, we're working on getting the video up and running.  The audio is working.  Somebody should be here shortly to help us with the video.


MR. LISTER:  Julie, do you have an issue number for that?


MS. GIRVAN:  Yes.  A1.  CCC No. 1.  It's sort of behind all the stuff that was filed, the studies that were filed.  Do you have it in front of you?


MR. KANCHARLA:  Yes.


MS. GIRVAN:  It says that the Concentric work is expected to amount to $1.9 million.  384,000 has been assigned in 2013.


Can you just explain to me how the costs of that are to be recovered?  Are those imbedded in your regulatory costs that are O&M for 2014?  Or is there some kind of deferral account?  I can't remember.


MR. SMALL:  If you are referring to the 384,000 related to '13 –


MS. GIRVAN:  Yes.  Both.


MR. SMALL:  That went to our 2013 rate hearing cost, which does have the OHCDA associated with.  So it would only go into the variance account if we pierced the 2013 threshold of 7.342 million, I believe, numbers.


MS. GIRVAN:  Okay.  So it's a variance account?


MR. SMALL:  Correct.


MS. GIRVAN:  Then what happens to the rest, the 1.5 million?


MR. SMALL:  It's being assigned to the 2014 rate hearing costs, which, again, has a proposed variance account around it.


MS. GIRVAN:  Around that.  Okay.  Thank you.


My next question is if you turn to -- this is still under A1, and I'll tell you, just at a high level, these are -- you've answered two questions that compare Enbridge's proposal to the Union Gas proposal, assuming that if you were to apply the parameters of that proposal, what would Enbridge's revenue look like.  And if you can turn up -- it's SEC 5 and BOMA No. 2.  That's, again, under issue A1.


MR. FISCHER:  Ms. Girvan, we have it.


MS. GIRVAN:  Thank you.  Can you explain to me, when you compare the two schedules in these -- it's on page 2 of the SEC interrogatory and page 1 of the BOMA interrogatory.  The numbers are different, and I'm trying to understand what the difference is in terms of your assumptions.  Why are the numbers different?


MR. FISCHER:  So the difference is in terms of factoring in of the tax implications for the site restoration cost adjustment.  So in SEC 5, if you look at the last sentence on page 1 of SEC 5, it says that:

"The table below sets out these revenues as well at the allowed revenues, excluding depreciation rate changes says and SRC credit impacts, and calculates the difference between them as the resulting implied deficiency for each year."


Whereas --


MS. GIRVAN:  So it's sort of saying:  Pretend that that adjustment's not being made?  What would it look like?  Is that what --


MR. FISCHER:  Yes.


MS. GIRVAN:  Okay.  And then that would match up to the BOMA one?  The BOMA one includes the depreciation and SRC?


MR. FISCHER:  Yes.  That's the only difference.


MS. GIRVAN:  That's the only difference between the two schedules?


MR. FISCHER:  Yes.


MS. GIRVAN:  If you turn to Board Staff 23 -- and this is under issue A6 -- what I'm looking for is -- have you filed -- I haven't necessarily seen it, but have you filed the numbers that set out 2013 Board-approved versus 2013 actuals?


MR. FISCHER:  Ms. Girvan, we need to locate that IR.  That was which one?


MS. GIRVAN:  It's under A6.


MR. FISCHER:  A6.


MS. GIRVAN:  There's not that many interrogatories under A6.


MR. FISCHER:  A6 which, Ms. Girvan?


MS. GIRVAN:  Board Staff 23.


MR. FISCHER:  Board 23.


MR. SCHUCH:  I don't see a Board Staff interrogatory at all under my A6.  Are we sure we've got the right reference?


MS. GIRVAN:  It's A7, I'm sorry.


MR. SCHUCH:  A7?  Thank you.

MS. GIRVAN:  I'm sorry.  My apologies.  So all I really -- it's not even – it doesn't necessarily matter what the interrogatory says.  I guess I'm looking at:  When do you expect to be able to file 2013 actual numbers?  I realize we're in January, but at least sort of an update, because I think that's something that we might need during the ADR process.  I just wondered, even if it's not a full 12 months of actuals, at least the sort of latest numbers for 2013.


MR. KANCHARLA:  In terms of 2013 actuals, Ms. Girvan, where we are in terms of time, it is earnings-sensitive here.  We have not the actuals for the 2013, need to be approved by our board before we disclose.  For that reason, 2013 actuals are not available at this time.


MS. GIRVAN:  Do you know when they might be available?


MR. KANCHARLA:  Subject to check, I think it will be late February.
Questions by Mr. Shepherd:

MR. SHEPHERD:  Can I just ask a follow-up on that?  What is the date of the Board meeting at which they're going to be approved?


MR. CASS:  Okay.  I think Andrew can answer that, if that is satisfactory.


MR. MANDYAM:  The Board meeting is -- I believe it's February 14th.


MR. SHEPHERD:  Okay.  So right after that then you can provide them?


MR. MANDYAM:  Yeah, I think our disclosure is -- our disclosure to the street is February 16th or 17th, subject to me checking.


MR. SHEPHERD:  Okay.


MS. GIRVAN:  Okay.  Thank you.  And another question I have is, if you turn to -- it's CCC No. 9, and it's under issue A8.

So I'm just looking to clarify in terms of the outcome of this proceeding, in terms of what your rate order is going to say.  And it's just not entirely clear to me.  I think things have changed, because you are now fixing the capital amounts for at least your basic capital plan for 2017-'18.  But what are you looking at, in terms of what this sort of decision and rate order is going to say with respect to the years '15 to '18?

I mean, will it be different than what you had during your last plan?  Or -- I'm just not -- it's just not clear to me, in terms of what the Board will decide in terms of a rate order with respect to those years, or will the Board only decide in this case what '14 looks like?


MR. SMALL:  I believe what we're -- well, not I believe.  What we're asking for is to set final 2014 allowed revenues now, as well as most of the parameters for the '15 to '18 allowed revenues.  So we've laid out all the allowed revenue calculations, but a few specific items would be updated annually, those being revenues at approved rates, because we'll have a new volume forecast each year.  We would have a new gas supply plan, so gas costs would be updated.  There would be some small impacts due to the gas supply plan on rate base, which would slightly affect your cost of capital; i.e., your gas and storage value and a small working cash component would change due to the updating gas supply --


MS. GIRVAN:  Yeah, I guess I understand that --


MR. SMALL:  Okay.  Sorry.


MS. GIRVAN:  -- in that each year you are going to have to actually apply for a rate adjustment, correct?


MR. SMALL:  Correct.


MS. GIRVAN:  And then the rate order coming out of that application will set out the specific rates.  I just wondered what you are going to be looking at in terms of this rate order with respect to the rest of the years in the plan, and it's something that maybe you want to think about, but...


MR. KANCHARLA:  Yeah, maybe if I can add to what Mr. Small has mentioned.  I can lead to the -- our overview exhibit, where we left off yesterday with Mr. Shepherd, Exhibit A2, tab 1, schedule 1, page 5, where we detailed the contents of our IR plan.  In that it provides what we're looking for for the years 2015 and '18.  These are preliminary rates that we are looking for the years 2015 to '18.  It was similar to our first-generation IR.  Like, we've provided a forecast of the allowed revenues, and we are looking for a preliminary rates approval subject to the items that would be adjusted on an annual basis.

On the same page 5 we provide the items that would be adjusted for the years 2015 to 2018.


MS. GIRVAN:  Okay.
Questions by Mr. Shepherd:

MR. SHEPHERD:  Sorry, can I just follow up on that?  I think Ms. Girvan asked you what the order would be, the rate order, and are you asking for a rate order that says the rates will be X subject to these adjustments?  Because that would be unusual.  I don't think you had that in the last plan.  Or are you asking, we're approving this plan in a general way, and come back for a rate application each year?


MR. KANCHARLA:  My understanding is that, correct, Mr. Shepherd.  I think the rate order will be issued for the 2014 would be the final rates for the 2014, and similar to the first generation for the years 2015 to '18 we would have annual rate.


MR. SHEPHERD:  And so there would be no rate order for those years in this case?

MR. KANCHARLA:  That's correct.


MR. SHEPHERD:  Thank you.
Questions by Ms. Girvan:

MS. GIRVAN:  Okay.  I have a few questions that I was asked to pursue on behalf of CME, so if you could please turn to CME.  It's under issue A1, CME No. 2.


So I've been asked by CME -- it seems to me that you haven't answered this question, and essentially what they are looking at is a line-item list of the revenue requirement components, and then asking -- it's sort of setting out which will be subject to adjustment in certain years and which will be fixed for the following years.


And I just think if -- maybe if you could just read through the question and just see if you could potentially answer and provide the schedule that they were asking for.


And I think the focus is really on the total of non-adjustable items as a percentage of the total revenue requirement, just sort of looking at what's potential of your entire revenue requirement, what's subject to change and what is really not subject to change in percentage terms.


I think the real purpose of this is to sort of consider the variability around your revenue requirement, the exposure.


And the other option is, if you could maybe undertake to look into providing this answer and speak to Mr. Thompson directly, in terms of providing him with exactly what he wants.


MR. SCHUCH:  If I can chime in, I think that's a very useful question.  I think I would like to see it on the record.


MS. GIRVAN:  Yeah.  Yeah, no, I'm just saying if -- I just want to make sure that Mr. Thompson gets exactly what he's looking for.  That's all.


MR. CASS:  Yeah, the problem, I'm sure people appreciate, is if you look at the very end of the answer it sums up the narrative by saying that the requested percentage is not thought to be meaningful, so this is --


MS. GIRVAN:  That's a subjective...


MR. CASS:  Yeah, well...


MR. SHEPHERD:  If I could just comment, Mr. Cass, if it's difficult for the company to provide the percentages, they could provide the table, and we can do the math.


MR. SMALL:  Well, Mr. Culbert (ph), I know, drafted this response.  I think his problem with it is trying to identify how everything that is subject to adjustment interacts with all the variables; i.e., cost of capital, revenues, taxes.  I think that's where the real issue becomes, is when you try and hive out everything that may have a deferral account beside it or that is subject to annual adjustment, just how it flows through all of that.  I think it's a very lengthy process and I'm not even sure -- I'm not sure it that can be done, personally, and I would hate to undertake that we can do that without Mr. Culbert's input.


MR. SHEPHERD:  I wonder if I could just comment again.  It does seem to me that if you can't do it, then the Board can't do it, and then you have a problem.  So I think you have to be able to do it in order to ask for the money.


MR. CASS:  Anyway --


MS. SEBALJ:  Could we get an undertaking?

MR. CASS:  Can we do on it the basis that we will take it away, consider again what can be done; to the extent that it can be done, to proceed and do it, and to the extent that it cannot, to again explain why, in the company's view, it cannot?


MS. SEBALJ:  Okay.  So that --


MR. SCHUCH: Sounds like an undertaking, and we will assign that TCU2.1.  Thank you.
UNDERTAKING NO. TCU2.1:  EGDI TO PROVIDE A RESPONSE TO IR CME NO. 2; to the extent that it can be done, to proceed and do it; to the extent that it cannot, to again explain why, in the company's view, it cannot



MS. GIRVAN:  Thank you.  If you turn -- one last question -- if you turn to Exhibit A10, under issue A10, it's CME No. 8.  It's on the screen as well.

MR. KANCHARLA:  Okay.


MS. GIRVAN:  Essentially what this question is saying is that Enbridge's is proposing an ESM with a hundred basis point dead band and 50/50 sharing.  And what CME is asking is:  Would you consider another alternative in order to address the risk of excess of forecast that would allocate 90 percent of the first hundred basis points of earnings over the ROE to ratepayers, with a 50/50 sharing in excess of a hundred basis points?


And I think that they want clarification as to whether or not that might be an acceptable proposal for Enbridge, and if not -- which assumes not -- why not.


MR. FISCHER:  Ms. Girvan, no, that would not be acceptable.  So the hundred basis points dead band and the 50/50 sharing above that, that's a carryover from the first generation IR.  The -- fundamentally, in terms of effective IR plans, I think many who would be familiar with the fundamentals on IR plans would suggest that earnings sharing in some cases shouldn't be in place in a plan at all, because it weakens the incentive to find efficiencies during the IR term.  And so a hundred basis point dead band, in our case, serves to ensure that the efficiencies, the incentives are maintained to find those operating efficiencies during the IR term.


So to move to a plan where 90 percent of the first hundred basis points is shared with ratepayers would weaken it too much, in our view.


Ms. Girvan –- sorry, Mr. Coyne may have additional comments on the theory behind earnings sharing or not in IR plans that he could expand on, perhaps.


MR. COYNE:  I would offer that that would be a very unusual construct for an earnings sharing mechanism, and it would have a very, very weak incentive.


We'll note that in Alberta, the commission rejected an earnings sharing mechanism in its entirety, for the reason that it thought that it did undermine the incentive elements of the program.


So I would just offer that it would be very unusual and it would be a very weak incentive, bordering on de minimus.


MS. GIRVAN:  Just to follow up, assuming that there is a risk that -- and I think it was Mr. Fischer yesterday said:  Our forecasts are going to be wrong.  Right?


So I think what CME is looking for is:  Did you consider with respect to the risk of -- the forecasting risk, any other ratepayer protection mechanisms that you considered in the development of your plan, in light of the fact that your forecasts are going to be wrong?

MR. FISCHER:  I think the simple answer is no.  In terms of the earnings sharing mechanism, it's asymmetric.  And so the company is at risk if our cost forecasting is wrong in terms of being too low.  And as I did discuss yesterday, there is embedded productivity, both in capital and O&M, and we feel that the company is going to be extremely challenged to meet those costs.


So the combination of the challenge, the embedded productivity, the asymmetric nature of the ESM, I think combines to put quite a bit of risk on the company in terms of cost risk during the IR plan.


MS. GIRVAN:  So you didn't consider any other alternatives in terms of ratepayer protection?


MR. FISCHER:  No.


MS. GIRVAN:  Thank you.  Those are my questions.

MS. SEBALJ:  Jay, I think we were -- Julie had filled in, so you were going to continue?
Questions by Mr. Shepherd:

MR. SHEPHERD:  Thanks.  Sorry I was late.


Let me just start -- carry on from where I left off yesterday in A2-1-1, and I'm at page 15 now.  In paragraph 39 of this, you talk about the three main challenges that you have in the coming years, which -- I presume "coming years" means 2014 to 2018, the period that we're talking about here, right?

MR. KANCHARLA:  That's correct, Mr. Shepherd.  During that.


MR. SHEPHERD:  And those three challenges are capital spending pressures -- which we talked about and we're going to talk about, I'm sure, at great length -- other spending pressures -- which you've indicated are not really as -- that's not the significant driver here.  The significant driver is the capital spending, right?


MR. KANCHARLA:  That's correct.  Here, the other spending pressures relate to the operating expenses that we're mentioned in our evidence as well.


MR. SHEPHERD:  Understood.  And then productivity challenges, and I take it that that is about the fact that you were on IR already and so you've already got some productivity?


MR. KANCHARLA:  That's correct.


MR. SHEPHERD:  So I wonder if you could tell me if you know, and if not, if you could undertake to provide a summary of how these three pressures are different from three different benchmarks.


The first is Union.  That is, how are these particular challenges to Enbridge different from the same categories for Union right now?


Secondly, how are these three challenges different for Enbridge from the large LDCs in the province, the electricity distributors?


And third, how are these three challenges different from the challenges that Enbridge faced in 2007 when it went into first generation?


If you could either point me in the evidence to where this already is -- I couldn't find it -- or undertake to provide that summary, those comparisons?


The reason I'm doing this, Mr. Kancharla, is you know it's going to come up in the hearing.  I'm trying to sort of -- instead of dithering around with it in the hearing, let's just get it up front, what you have, what you don't have, so we all know.


MR. KANCHARLA:  Thank you, Mr. Shepherd.  In relation to capital -- I'm looking at the interrogatory response that we provided, A1.EGDI -- let me look into that first.


In A1.EGDI.SEC 6, we provide details of differences between Enbridge and Union.  That explains some of the differences in terms of the assets.  So that's more on the capital side that we have provided there.


MR. SHEPHERD:  So for capital versus Union you would say look at SEC 6.  Okay?


What else?  You would agree -- with respect to Union, your productivity challenges would be similar, because you're both on the same IR plan -- or you were both on IR plans for the same period of time, right?


MR. KANCHARLA:  That's correct, but the different models, and also, I think as you've seen in the difference, it is really difficult to -- even though there are two gas utilities in Ontario, the circumstances and the characteristics of the utilities could be different.


MR. SHEPHERD:  Well, that's true, but it's true, isn't it, that at least there are similar sizes, similar climate, as compared to, for example, many of the utilities in Mr. Coyne's group.


[Witness panel confers]


MR. KANCHARLA:  Related to comparisons of utilities -- and I'm trying to look at the productivity and the operating expenses.  I think yesterday we discussed about the benchmarking that Concentric has provided, so that provides some comparisons to Union.


MR. COYNE:  I would -- as you'll recall, we provided the benchmarking study dated January 7th, 2012.  It was submitted in the 2013 rate case, and that's the study where we did include data on the seven Canadian gas distributors, including Union, and there are a wide variety of benchmarks that are reported there, including the size of the companies, their capital spend, their O&M spend, et cetera.  I think that's a useful source of comparison.


MR. SHEPHERD:  Yeah, I was sort of asking for -- see, what I'm trying to determine is, you're asking for something different than Union.  You are asking for something different than the LDCs, and you're asking different -- something different than you had in 2007, so I'm trying to understand, what are the things that are different about Enbridge relative to those other situations today that are the reasons why you need something different now?


And so you've said, here are your three challenges, so on productivity, how is your productivity challenge different from the productivity challenge faced by Union, for example?  And I don't think your benchmarking study advises us on that, and you can tell me I'm wrong, but I didn't see that answer there.


MR. KANCHARLA:  Mr. Shepherd, there were three components you are referring to.  One was the capital side, and one was the operating expenses, and that was what I was referring for the benchmarking side.  It provides the operating expenses benchmarking that's provided by Concentric advisors.


In terms of productivity, what we've provided in our evidence is related to Enbridge productivity challenges.  I think it's difficult for Enbridge to fully provide the challenges that Union Gas is facing.


MR. SHEPHERD:  Okay.  You know, rather than spend a lot of time going -- talking about this today, is it possible for you to provide just a table, a block of nine, that is the three categories, the three comparisons, and what you see as the key ways in which you're different on those categories from those three groups of comparators, one of which is yourselves?  Can you do that?


MR. KANCHARLA:  That's correct.


MR. SHEPHERD:  Thanks.  And if it's simply references to the other evidence, that's great.  I'm just trying to get my head around this.


MR. KANCHARLA:  Yeah.  I understand.


MR. SCHUCH:  This undertaking will be assigned TU2.2.


MR. SHEPHERD:  Thank you.


MR. SCHUCH:  Undertaking TCU2.2.  Thank you.
UNDERTAKING NO. TCU2.2:  EGDI TO PROVIDE A TABLE SHOWING its main challenges and how they differ from the three groups of comparators

MR. SHEPHERD:  My next question is A2, tab 1, schedule 1, page 17.  These are all in the updated evidence.  And in paragraph 47 in the middle you say:

"Enbridge is not able to produce a detailed line-by-line capital budget forecast for 2017 and 2018."


And just stopping there, do I understand correctly that you're not proposing to provide any cost-of-service evidence relevant to those two years for any of the components of your revenue requirement, except you do have a forecast of cost of capital, but other than that, in O&M you've just done a formula increase, and in capital you're simply using 2016 for 2017 and 2018, and we have no evidence of what your cost of service actually will be in those years.  Is that fair?


MR. KANCHARIA:  Except for the variance accounts that -- again, it could be -- we will maintain a variance account for two items.  It won't be a cost-of-service application; you're correct.


MR. SHEPHERD:  Okay.  Thank you.


Then my next question in this exhibit is on page 21, in paragraph 61.  One of the examples you give of relocation costs is the Pan Am Games in 2015.  So I assume -- tell me if this is wrong, but I assume that that spending will be largely in 2014, maybe a little bit carried over to 2015, but largely in 2015, since the games are happening in 2015?  Is that fair?


MR. KANCHARLA:  The capital panel would be able to provide more details on this, but as it is provided here, you're correct.


MR. SHEPHERD:  The reason I ask the question is that I'm not sure I have seen in the evidence -- and maybe I just missed it.  There's lots of evidence -- a place where you actually tell us what's the number, what's that number for the cost of infrastructure for the Pan Am Games.  I've seen it referenced as a driver of changes, but I don't think I've actually seen one number.  Is that somewhere?


MR. KANCHARLA:  Mr. Shepherd, I'll revert this to the capital panel, in terms of the details of the...


MR. SHEPHERD:  Okay.  Thank you.


The next is the next page, page 22, and you'll see there's a table there in paragraph 64, and this table is a table that goes up to 2016 for your O&M budget.  Do we have a similar table that goes up to 2018 in the evidence?  Again, I couldn't find it, and I...


MR. KANCHARLA:  I'm just looking at the O&M exhibit.  In the D1, tab 1, schedule 1 we provide -- we do not provide the variance explanations, but we can do that.


MR. SHEPHERD:  Sorry, D1, tab 1, schedule 1?  What page?  So is this one here the -- so this has the 461 on it.


MR. KANCHARLA:  Yeah.


MR. SHEPHERD:  But what it doesn't have is this breakdown, which presumably you needed the breakdown in order to get to the 461, right?


MR. KANCHARLA:  We can provide that.


MR. SHEPHERD:  Can you?  Okay.


MR. SCHUCH:  This request will be assigned Undertaking TCU2.3.
UNDERTAKING NO. TCU2.3:  TO PROVIDE a table showing O&M BUDGET UP TO 2018

MR. SHEPHERD:  Thank you.  The next is on page 67, and -- sorry, not page -- paragraph 67, page 23.  And this is about the cost pressure associated with depreciation expense increasing at 6 percent per year.  And you said that the reason it's increasing is because of past capital expenditures and increasing capital expenditures.  Sorry, past capital investments and increasing capital expenditures.


I tried to figure out how past capital investments could cause you to have increasing depreciation.  I always thought that mathematically the depreciation on some costs has to go down.  It cannot go up; it can only go down.  Is that -- when you are using straight-line depreciation; isn't that right?


MR. KANCHARLA:  Mr. Shepherd, what we are referring to when we mentioned about the cost pressures are -- you're correct.  If you are not investing in any capital in the future, your rate base is declining so your depreciation would decline, but that's in a case where we're not investing in any new capital.


Also the cost pressures, what we're talking about is we're talking about long life assets here.  So when you have 25- to 40-year life assets, compared to an IR term of five years, the depreciation amount is first taken away by these past investments, I think, so the new capital investments would be -- the depreciation from new investments would be above these depreciation levels of the past investments.


MR. SHEPHERD:  If the average life of your assets is 40 years, then mathematically each year the rate base will go down by 2.5 percent, on average, because 2.5 percent of your assets will reach the end of their useful life, right? Mathematically?


MR. KANCHARLA:  That's correct.  The old assets would depreciate, but it depends on the level of investments in the past and the level of investments that we are making in the current period.


MR. SHEPHERD:  That's what I'm trying to understand.  You've said that past capital investments are a cause of your depreciation expense going up.  I can't understand how that could possibly happen.  I'm trying to get you to explain how that could possibly happen.


Or maybe it's just the syntax here is wrong and that you don't intend to say that.

MR. FISCHER:  Mr. Shepherd, if I could just help a little bit, so I think you were suggesting that rate base is -- if you don't spend a dollar in terms of new capital, rate base would decline.  So that would be correct.


So over the remaining life, at the end of the remaining life, rate base would be zero.  And so the rate of decline in rate base would be whatever that remaining life, economic life, would be.


MR. SHEPHERD:  Can I stop you there?  So past capital investments can't cause your rate base to go up, by themselves?


MR. FISCER:  Correct.  But in terms of depreciation expense -- this is the important point, Mr. Shepherd -- the depreciation expense is not declining.  Even if you didn't spend another dollar of capital, it's not declining at the rate of rate base decline, because depreciation expense is calculated on a straight-line basis, not a declining basis.  So there's a bit of -- there's an erosion in terms of depreciation expense over time, but that erosion, that rate of erosion is very small.  I don't know what it is exactly, but it's well in excess of what the decline in rate base would be.


So in other words, if we were at -- if we're depreciating over 40 years and we're in year 39, there's a small amount of rate base left.  The depreciation expense in year 39 would be a little bit less than what it would be in year 1, but it wouldn't be -- declining nowhere near the same rate as rate base.


MR. SHEPHERD:  It would actually be the same until the end of the useful life, right?


MR. FISCHER:  Correct.


MR. SHEPHERD:  The depreciation expense stays flat until the end of the useful life, and then it drops off to zero?


MR. FISCHER:  Correct.  So I think the point that we're trying to make here is that -- so you have existing -- or capital that's been spent in the past.  It's being depreciated on a straight-line basis, but what we're doing, of course, is we're adding 460 or whatever amounts of capital each year.  And that depreciation expense is what's added to that, and that's where you are getting into this roughly 5 to 6 percent annual average in growth and depreciation, because that's what's causing it.


MR. SHEPHERD:  Exactly.  That's what I'm trying to nail down, Mr. Fischer, is it's quite a different question for the Board if they have to look at depreciation going up because of money you've already spent, but if depreciation is going up because of money you're going to spend, that's money that they can assess is this is a good idea or not.


So the depreciation's going up only because of money you are going to spend, right?


MR. KANCHARLA:  I think what we're trying to convey, Mr. Shepherd, is it is the cumulative impact of both.  You would have the past investments' depreciation, plus the new investments' depreciations.  And that's what we're referring to here, is -- what you're suggesting here is the new investments would have the depreciation pressures, assuming the past investments are depreciated completely.


What we are saying is that it's a combination.  There are past investments plus the new investments.  Both together, there is a depreciation that is causing cost pressures here.


MR. SHEPHERD:  Okay.  So that's -- see, I thought we were there and now we're not.


The depreciation on past expenditures, on past investments, is going down.  The depreciation on new investments is going up, right?


So the pressure, the upward pressure on depreciation is only because of the new ones.  In fact, it's being reduced by the old ones; isn't that right?


MR. KANCHARLA:  You need to look at the cumulative impact.  You're right; the past investments are being depreciated, but if the level of investments in -- 20 years back was 200 million and the current level of investment is 400 million, you're not -- the depreciation expense from 400 million is not the same as the depreciated 200 million.  The levels of the past investments do play a role in the cumulative depreciation expense.


MR. SHEPHERD:  Okay.  We'll move on.
Questions by Dr. Kaufmann:

DR. KAUFMANN:  Can I just ask a brief follow-up on this page?  There's a sentence here that says:

"The cost pressures from depreciation expense are not accommodated within a traditional I-minus-X IR model."


Is that a statement about the cost pressures from Enbridge's depreciation expense, or is it your view that that is true of all I-minus-X IR models?


[Witness panel confers]


MR. FISCHER:  Yes, so, Dr. Kaufmann, so we don't really know what the situation of the utilities is, but this comment here is an Enbridge-specific situation.  It speaks to the unique circumstances that Enbridge is facing, and it is another reason why we think the customized IR plan is one that is appropriate for us, versus a traditional I-minus-X methodology.


So this really is a good example of something that is unique to our circumstance, I think.


DR. KAUFMANN:  Okay.  Thank you.
Questions by Mr. Shepherd:

MR. SHEPHERD:  Well, that was actually my next question.  That's okay.  Great minds think alike.  So I'm going to follow up on that.


Is your situation unique because of the quantity of your capital spending or the type of your capital spending, or something else?

MR. KANCHARLA:  The principal is the quantity of capital spending.


MR. SHEPHERD:  Thank you.  I think I finished that one.  Let me go to the original IR responses.  Mostly I'm going to be asking the questions that I've already provided you in writing, but I may ask some other ones as well.


You know you are getting older when you have to increase the size of the document to 125 percent to read it.

SEC 1 is in response to Staff IR No. 1, and you may have answered this already, that the difference between the past and the future is really primarily the capital, right?


MR. KANCHARLA:  That's correct.


MR. SHEPHERD:  The second one is one that, as you know, we've raised a number of times already, and we're very concerned with, and that is normally in an IRM application there is no forecast of costs.  In this case you have now provided a forecast of costs, and we're concerned that Enbridge believes that, once having provided that forecast, the Board is obligated under the fair returns standard to consider whether they should set rates on that basis or -- and whether those costs are reasonable.  That is, they're forced into cost-of-service analysis.  Is that Enbridge's position?


MR. FISCHER:  No, Mr. Shepherd.  The Board, of course, can determine rates in any way it sees fit or appropriate, so it is not bound by that.


MR. SHEPHERD:  Thank you.  We've asked you in SEC 3 for the restatement of the table with the accounting error.  I understand you are going to provide that later?


MR. CASS:  Jay, I made a note that that's Undertaking TCU1.8.


MR. SHEPHERD:  Yes.  Yes.  And SEC 4 you've already answered with somebody else, I think with CCC.  SEC 5, you've used a -- this is in Staff 12.  Just find it.  And you've used a -- this, I guess, is for you, Mr. Coyne -- a 45 percent variance band to determine who's similar to Enbridge, right?


MR. COYNE:  Yes, that was one of our screens.


MR. SHEPHERD:  Okay.  And --


MR. COYNE:  We also used size of the company and operations.


MR. SHEPHERD:  Understood.  I'm really asking just about that one at this point.  And what's the basis of that variant band?


MR. COYNE:  As we -- well, as explained in SEC 12, and as I tried to discuss yesterday by virtue of using the map, we were looking for companies that operated in a similar weather environment because of the implications that has for the cost drivers for the utilities in those -- in that weather environment.


MR. SHEPHERD:  No, the question I'm asking is, why is it 45 percent --


MR. COYNE:  Oh, why 45 --


MR. SHEPHERD:  -- for the year, 40 or 50 or 80 or whatever.


MR. COYNE:  Right.  Okay.  It was a -- it was a judgment on our part.  We looked at various ranges to see which one would allow us to get a big enough group so that we could have a robust database, but yet not so large that we started to include utilities that are clearly out of that weather band.  And as we showed in the map yesterday, you pretty much divide the U.S. continent in half when you do that.


On average, as we discussed yesterday, it gives you an 8 or -- 8 or 7 percent, depending on the 7 or 8 percent -- excuse me, depending upon whether you are talking about the 25-company group or the smaller seven-company group variance from EGD's heating degree day environment.


So it was a combination of those things that led us to believe it was the right judgment.  You could have used 40, and you would have lost a few utilities.  You could have used 15.  You would have picked up a few, but...


MR. SHEPHERD:  And you did those runs and determined what utilities would be added and subtracted, right?


MR. COYNE:  Not utilities.  We determined which states first, and then from there then we began to extract the data, because the data -- the data process for each of these utilities is very time- and labour-intensive, so we wanted to make that cut before we gathered the data and determined the utilities.


MR. SHEPHERD:  So you took the heating degree days from what, commission information on state heating degree days?


MR. COYNE:  No, that's based on a -- it's in our evidence.  I think that's a NOAA climatological centre database that we rely upon.


MR. SHEPHERD:  And so you selected the states.


MR. COYNE:  Yes.


MR. SHEPHERD:  So then how did this -- how was the selection driven by the number of companies that you ended up with?


MR. COYNE:  I'm not sure if I understand --


MR. SHEPHERD:  If you were selecting states, then how did you know how many companies you were going to end up with?


MR. COYNE:  Well, we knew which -- we didn't know what companies at that point in time.  We only knew what states.  And then after that we applied our screen based on company size, 500,000 customers or more, to determine how many utilities we would have.


MR. SHEPHERD:  So then if you didn't have enough at 40 percent, let's say, then you had to go back and rerun the whole process at 45 to see whether you got enough?


MR. COYNE:  Yeah, we settled on that pretty fast.  I mean, we had an idea geographically of that which we thought was appropriate, and then once we ran the weather data it became pretty clear that you could draw a line across the U.S. and come up with that 45 percent variance as something that would give us a reasonable geographic boundary --


MR. SHEPHERD:  The 45 percent is sort of like a latitude.


MR. COYNE:  It is.


MR. SHEPHERD:  Yeah.  And is there something -- is there some work done on this in the literature?  Is there some -- has somebody looked at this to determine who's like who?


MR. COYNE:  Who's like who from an operating environment standpoint?


MR. SHEPHERD:  From a climatological basis.


MR. COYNE:  I'm not sure if I understand your question.


MR. SHEPHERD:  Well, you did this to choose who was like Enbridge, right?


MR. COYNE:  To choose the states where we would find utilities like Enbridge, yes.


MR. SHEPHERD:  That's right.  And so has anybody done any work on this?  Is there empirical research around that says, you know, this is how you make climatological groupings for gas purposes?


MR. COYNE:  Well, we do a lot of work, statistical work, on heating degree days pertaining to our demand forecast utilities.  So it's really based on our resident knowledge of utilities and how weather impacts their operations.


MR. SHEPHERD:  But I'm asking --


MR. COYNE:  We relied on no other source for that purpose other than our own industry knowledge.


MR. SHEPHERD:  Thank you.  In Staff 14 you were asked about the data that was provided to you, Mr. Coyne, with respect to, in this case, capital revenue requirement.  And we've asked the question in SEC No. 6, TC No. 6, did you add any judgment or opinion to the revenue requirements information that Enbridge provided to you?  They provided to you their -- what they thought they were going to spend for the five years, right?  Did you look and make an assessment, are these numbers reasonable in and of themselves, on a cost-of-service basis, or did you only do then benchmarking tests?


MR. COYNE:  We did two things.  We did two things.  We made -- well, first of all, maybe to your point, most specifically, we made no independent analysis of the revenue requirements on a bottom-up kind of basis.  That would not have been within our capacity.


What we did do is we examined them from a top-down evaluation of the O&M level in an I-minus-X framework test in our evidence, and we also looked at total revenue requirements on an I-minus-X test basis.  That was the top-down analysis.  We did no bottom-up analysis, nor independent verification of the O&M or cap-ex numbers.


We also ran scenarios of alternative capital recovery mechanisms to see what impact they would have vis-a-vis Enbridge's projected revenue requirements.


MR. SHEPHERD:  So if I understand it correctly, you assumed that they had to spend that much money, and so the result, that is, that a particular percentage increase would be required, was after that just math, right?  Because in an I-minus-X, if you need X dollars, there's already a formula that will tell you that, right?


MR. COYNE:  Yeah, I was aware of what the company -- generally aware of what the company's budgeting process was for O&M.  I saw the iterations they went through in developing their forecast.  But we made no independent investigation of the veracity of those forecasts.  That was not our scope.


MR. SHEPHERD:  So when you say -- I think you said that they would need 3.4 percent per year or something like that?


MR. COYNE:  I believe that was Enbridge's calculation based on the I-minus-X revenue-requirement differential.  I'm aware of the 3.4 percent you're talking --


MR. SHEPHERD:  But you came to a number for what they would need to get or what the shortfall would be in a normal I-minus-X.


MR. COYNE:  We did.


MR. SHEPHERD:  Yeah, and so that number that you came to, that was a mathematical calculation.  That was not anything to do with what a reasonable amount was for them to spend.


MR. COYNE:  Right.  We provided the I and the X for that analysis; that was our job.  Enbridge projected revenue requirements using their O&M and capital budgeting process.


MR. SHEPHERD:  So if Enbridge had proposed a lower level of budget, then you might have concluded differently that I-minus-X would work for them?


MR. COYNE:  We might have.


MR. SHEPHERD:  Okay.  My next question is in Staff 16.  It's not in my written questions.


And this is -- what you've provided is the data points that you used for your benchmark analysis, and a lot of them were re-evaluated.  "Re-evaluated" means that you took the data that was available and you changed it, right?


MR. COYNE:  The -- it's described in footnote 4, what we meant by "re-evaluated."  And each time -- well, maybe just a little bit of background would be helpful.


We're dealing with thousands of data points each time we update the data for these 28 companies and their operating subsidiaries.  Each time we would do that, we would go through a data quality check, and when we -- each time we would add a new year of data, we would rerun that check to make sure that we still had quality data for each year, and we would look for either missing observations or ones that didn't make sense to us.  We would run checks on them to make sure they made sense to us year over year.


And if the -- if we found that the company had re-categorized data -- we found, for example, sales and transportation categorizations, commercial versus industrial, firm versus interruptible.  Sometimes companies themselves would change their own definitions and would re-categorize that data.  So that would cause us to go back, look at the hard copies, not just relying on the electronic database, to make sure that we had it appropriately categorized.


So that what's "re-evaluated" means from that standpoint.


MR. SHEPHERD:  Am I right that you found that there were a few of the utilities in your group, in your study group, that had a fairly large number of these things that you had to fix?


MR. COYNE:  Yes.  Some were more than others.  In fact, we excluded three because we just could not get to the quality data we need for --


MR. SHEPHERD:  That's what I was going to ask.  So when a utility got to the point where their data was just too bad, you said:  Well, we can't keep them in our study?


MR. COYNE:  Too bad or unavailable or a combination of the two.  Right.


MR. SHEPHERD:  Thanks.  My next question is on 17.  And we've asked this in SEC No. 7.


I would have thought it's relatively normal to -- if you're trying to test whether particular business conditions or particular cost drivers are the ones you should be using in a study, that you do an econometric test of them.  That's an effective way of cross-checking to make sure you've selected the right things, right?  It's pretty common?


I don't understand why you didn't do that.


MR. COYNE:  For purposes of the TFP analysis?


MR. SHEPHERD:  For the purpose of the analysis we're talking about here, in this question.

MR. COYNE:  Well, I'll try to -- I know we discussed that yesterday.  Let me see if I can put additional perspective on it.


The nature of TFP analysis is you're trying to develop a relationship between inputs and outputs of the company in order to measure overall efficiency, in converting those inputs to outputs.  That's not inherently an econometric analysis; it's a cost -- it's a quantity indexing analysis.  That's not econometrics.  It's basic math, really, to use your expression.


Econometrics sometimes gets overlaid with TFP analysis -- Dr. Kaufmann does this type of work -- in order to predict what a company's efficiency should have been, in order to try to hold various variables constant.


It's our view here that we didn't have the data available to us that would have allowed us to do that work in a quality way.


If you try to do it and you have missing data or missing variables, you can create a very lousy econometric model that really adds no efficiency to your process.  So it wasn't our intent to try to predict, as a result of that, what Enbridge's efficiency should have been.


Instead, what we did is we looked at this larger industry group.  From them, we selected a subset that were growing the fastest and had -- because that gives you an advantage from a TFP standpoint.  If you're growing faster, your outputs are growing.  And generally that gives you an advantage, so we wanted to take an advantage group from that standpoint, and a large group because we believe there are economies of scale in the industry did give us a more select group.  So we chose those seven, and we said:  Here's the benchmark for an X out of this industry proxy group that we think is appropriate for Enbridge.


What we didn't do is try the take the next step, run econometrics, and predict what Enbridge should have been.  When we looked at that seven-company subgroup, they were -- they were a stretch, from a TFP standpoint, versus the larger group.


So we said to ourselves:  We believe that is the appropriate X for Enbridge.  We didn't try to take it the next step.


You can also use econometrics in other ways.  You can try to estimate a simple cost function, and say the cost of the utility is a function of variables you have access to.  We've done that work in the past, and we found that we got lousy results because we didn't have sufficient data to do it well.


MR. SHEPHERD:  That's something that's unique to gas utilities, the gas distributors, electric -- electricity distributors, I think you said that information tends to be available for --


MR. COYNE:  Well, form 1 or form 2 for electric and gas, respectively, provide you high-level data, but they may not give you the sufficient data that you need at the operating company level to create a -- and we mentioned all the drivers you would want to have to do it well.


In the case of Ontario RRFE, the Board was able to ask its electric utilities to provide that data so that you had access to a better database -- I'm not sure of its sufficiency, but at least a better database of non-public-domain data that you could use to experiment with that.


We of course didn't have that for these companies using public-domain data.


So the bottom line is that we do a lot of econometrics in our shop.  We love it as a tool, but unless you have the right data to create a viable model, it really doesn't get you very far.


MR. SHEPHERD:  Okay.  My next question is on BOMA No. 2.
Questions by Dr. Kaufmann:

DR. KAUFMANN:  Can I ask a brief follow-up?  Just to follow up on Jay's question, did you use econometrics to develop what you've called screens for selecting the peer group, to look at actual cost drivers and to look at other potential screens other than heating degree days and the size of the utility?


MR. COYNE:  No, we did not.  We screened based on our knowledge of the industry.  And again, we used weather, customer size and growth and natural gas operating companies as our primary screens.  And then from there, we developed the broad set of analysis and the subset analysis.


But we used no econometric screens, because, again, we did not have the data that would have been -- allowed us to do so in an effective manner.


DR. KAUFMANN:  Thank you.
Questions by Mr. Shepherd:

MR. SHEPHERD:  My next question is BOMA No. 2, which is our No. 8.  And what we would like is we would like the calculations for this table.  Obviously, the custom IR may well be just a reference to another place in your evidence, but the Union IRM is a calculation that you had done and I -- it would be useful to us if we could see your assumptions and how you got those numbers.


MR. FISCHER:  Yes.  So we're endeavouring to put that detail together, so if we could have an undertaking for that, we would provide that most likely on Monday or Tuesday.


MS. SEBALJ:  It's TCU2.4.
UNDERTAKING NO. TCU2.4:  EGDI TO PROVIDE CALCULATIONS FOR TABLE IN BOMA NO. 2.


MR. SHEPHERD:  Just on this one, the assumptions you've used are that Union has a revenue cap model.  I assume that's just a typo?


MR. FISCHER:  It's the way we characterize their model.  I know they describe it as a price cap model, but our understanding of the methodology, it applies I-minus-X, an escalator to revenue each year, and then rates are determined based on that divided by volumes.  So it's revenue, actually, that has escalated.  So we would characterize it as a revenue cap model, and that's why we called it that, although I know that they call it a price cap model.


What we have done, in terms of developing these revenue-requirement determinations is following their model, although we call it a revenue cap.


MR. SHEPHERD:  My next question is SEC No. 9.  And this is a reference to CCC No. 1.  And I think we actually have somewhere the original cost proposal.  We asked for it, but then I think I've subsequently seen it in the evidence.  It was something like $375,000; is that right?


MR. COYNE:  It is in CCC 1.  It's provided as an attachment.


MR. SHEPHERD:  It's already in the attachment.  Well, that's even better.


But obviously, to go from 375 or whatever it was to 1.9 million means that there were a bunch of change orders in this, right, where the scope of the work got expanded; is that right?


MR. COYNE:  The scope of the work certainly expanded.  We relied on our original proposal, and we provided -- worked with Enbridge on an ongoing basis to accommodate the process as it changed.


MR. SHEPHERD:  Presumably you had to have new budgets at various points.  Enbridge didn't let you go from 375 to 1.9 without a new budget.


MR. COYNE:  We provided the company with ongoing updates pertaining to existing and projected costs with the project.  It was a time and materials project from the outset.  We had an initial budget based on a ten-month project, and it grow to over a three-year project.


MR. SHEPHERD:  All right.  So can you provide the change orders or amendments that happened that got you from the original budget to 1.9 or wherever you are now?


MR. COYNE:  Yeah, there were no change orders.  We worked off the existing proposal all the way through the entire project, because it allowed for the fact that this process was going to be a fluid one over time, so there were no specific change orders, but there were periodic updates to the company, and we did that by teleconference.


MR. SHEPHERD:  There were new budgets, right?


MR. COYNE:  Well, there was an initial budget and an initial scope, and then over time that scope evolved, and the budget evolved with it.


MR. SHEPHERD:  I --


MR. COYNE:  We provided the company with periodic updates and discussed them, and they were scrutinized, and then we discussed next steps.

MR. SHEPHERD:  So there were new budgets with reasons for those new budgets, right?  I worked at Enbridge a long time.  They're not going to let you go from 375 to 1.9 million with no pieces of paper.  Pretty sure.


MR. COYNE:  There were ongoing updates to the budget, but we did not provide -- we did not provide ongoing written updates to the budget.  It was all done by virtue of our update to the Enbridge regulatory team on a periodic basis.

MR. SHEPHERD:  So there's no --


MR. COYNE:  It was primarily done by phone.  Occasionally we were meeting.


MR. SHEPHERD:  So there's no current budget?

MR. COYNE:  I believe that was provided in the response to CME 1, an estimate through -- the most recent estimate at that point in time through the end of the hearing process.  Yeah, that's in here, in CCC 1.  I believe you referred to it.  It's on page 1.


MR. SHEPHERD:  That's the estimate to date?

MR. COYNE:  Correct.


MR. SHEPHERD:  Right.  And so presumably there's more after that?

MR. COYNE:  Well, presumably.  I mean, I'll have to go back, and I think that was provided prior to the technical conference, so obviously that adds to that total, yes.


MR. SHEPHERD:  Well, if there's a hearing, then presumably there's more then, right?


MR. COYNE:  Correct, yeah, and those are the most difficult parts of these processes to estimate.  One doesn't know how many days, how many interrogatories, and how much follow-up and undertaking is required.  Difficult to estimate that portion of the budget with any accuracy, but it was a -- you know, we -- the scope that we provided was designed to provide a study and a ten-month process that, you know, stretched out over two cases, two sets of hearings, and updates to a database that began through 2009, that we updated through 2010, and then 2011, before we finally completed our study.


MR. SHEPHERD:  I wasn't actually intending to ask you any of this stuff, Mr. Coyne.  I was intending to ask --


MR. COYNE:  Oh, sorry.


MR. SHEPHERD:  Your answers are helpful, but I was intending to ask Enbridge, can we please have -- because you're going to ask us to pay for this under the variance account, right?  Can we please have the current budget, as detailed as you have, and any other budgets you've received from Concentric?


MR. FISCHER:  So I don't think that exists.  If it does exist, you know, we would provide it.  But clearly the engagement evolved over the last three years, in terms of the original engagement.  Two key events took place, one the splitting of the IRM from the 2013 rebasing, and so that was a key event that changed the scope of the engagement; and then the other being, initial work was -- as you are aware, in terms of, how can we potentially evolve an I-minus-X approach that we did have for the first-gen IR for the second-generation IR, and how that changed ultimately in early 2013 to the customized IR plan that is before the Board now.  So those are the two key events that evolved that engagement with Concentric.


MR. SHEPHERD:  I'm aware that lots of things have changed.  Believe me, it has given us a lot of work too.  But what I'm trying to get is prudence evidence with respect to this spending, and I'm inviting you to provide us -- and you're saying there is no paperwork, which sounds not very prudent to me, and so I'm inviting you to give us your prudence evidence in an undertaking.


MR. FISCHER:  So again --


MR. CASS:  Jay, I mean, the first question would be, why would the prudence issue be arising now, as opposed to when the account comes to be cleared.

MR. SHEPHERD:  Because we're going to argue you shouldn't have the account.


MR. CASS:  Well, that may be so, but I don't think that goes to the prudence of amounts that might otherwise be recorded in the account being judged in advance, as opposed to when prudence is normally looked at, which is at the time.  But anyway, leave it with us, and we'll respond after consideration as to what we're prepared to do.


MR. SHEPHERD:  Excellent.  Thank you.


MR. CASS:  Thank you.


MR. QUINN:  Is that going to be an undertaking?


MR. SHEPHERD:  Yeah, I think it's an undertaking, right?  A best-efforts undertaking.


MR. CASS:  It's an undertaking -- sorry, my mic's not coming on.  It's an undertaking for Enbridge to respond as to what it's prepared to do in response to your question.

MR. SHEPHERD:  Perfect.
Questions by Mr. Quinn:

MR. QUINN:  And I don't want to change the nature of that, and Mr. Shepherd has started the pursuit, but it's engaged my thinking in a way that ultimately somebody's got to write a cheque for hundreds of thousands of dollars.


MR. SHEPHERD:  Millions.


MR. QUINN:  Well, instalment payments, and unless the company is going to float that for a while.  In reality there's got to be some kind of cost-control mechanism in your company, simplify -- simply said, some kind of purchase order type system that approves expenditures at that level.


Stopping there, Mr. Kancharla, is there any control system like that where there ought to be a purchase order issued so that monies can be allocated to pay for invoices when they come in?


MR. SHEPHERD:  Just before you answer, this is CEO approval, right?  This is at the level of CEO approval?  1.9 million.


MR. KANCHARLA:  Sorry, I couldn't follow, Jay.  CU?

MR. SHEPHERD:  This is at the level of CEO approval.  When you get to 1.9 million the CEO has to approve this.  In fact, it may be the board, I don't remember, but I know it's at least CEO, right?

MR. KANCHARLA:  Yeah.  To answer Mr. Quinn's question, they're difference of controls, as Mr. Fischer and Mr. Coyne have responded earlier.  The engagement has evolved.  There have been some detailed conversations regularly with the Enbridge regulatory team and with the Concentric Energy advisors in terms of the work and the engagement details and what was expectations from the Enbridge perspective as well.


So like any other organizations, there has been definitely controls, in terms of understanding the level of engagement and the work expected from Concentric Energy as well.


MR. QUINN:  So to get a modified or increased purchase-order value for the engagement there must have been some paperwork to have increased your capacity to pay.  Am I right with that?  Or are you saying none of that actually exists?


MR. KANCHARLA:  Related to this engagement, it was the principal -- the original agreement engagement letter that the company and the Concentric Energy advisors were working under.


MR. QUINN:  So there was an original, I'm calling it, purchase order?  Whatever your terminology is, there was an original order issued for Concentric to start?


Would there have been an opposite limit on the value of that engagement?


MR. KANCHARLA:  I'm referring to the original engagement letter that we had with Concentric.


MR. QUINN:  So it's 375,000 or maybe it says 400,000 in your purchase order.  Somewhere along the line, you're writing a cheque that's going to go over a million dollars on this project.


Is there not a control system that the company would have, that says:  We need to identify that we are now over, considerably over, the original estimate?  And therefore there would have to be some documentation as to why?


MR. KANCHARLA:  As Mr. Coyne and Mr. Fischer have alluded to, it's not that it was a surprise for Enbridge.  I think Enbridge was involved regularly in the discussions, with the engagement with Concentric Energy advisors.


I don't believe there was a re -- a drafted agreement, but there was regular engagement and discussions before they pursued any of the future work.


MR. QUINN:  Well, I want to leave Mr. Shepherd's request with Enbridge.  Mr. Cass said that you would respond.  I was trying to figure out some control system way of addressing this.  To the extent that there isn't anything, that causes a different concern, but I'll leave  that for another day.


MR. SHEPHERD:  I'm going to ask that you add to the undertaking as another thing to consider.  You would presumably have to have gone for approval at some point to your president or your board once you got to a certain level on this, and they would not -- being president or board, they would not accept that you just tell them what you want to do, because that's not how it works at Enbridge.  They would want some sort of briefing note or presentation.


If such a document exists, can you provide it?  Or documents, if it was multiple.

MR. FISCHER:  So, Mr. Shepherd, we'll provide some discussion around how spending authority limits are in place within Enbridge and how it fits into this.


You know, whether it needs to go to the CEO or not, I'm -- I don't think that's the case, but we will describe how spending authority works within the company, if that helps.


MR. SHEPHERD:  Yeah.  It's actually in your 2013 rate case, is what your spending authorities are.  So it's public knowledge.  And what I'm looking for is not what your spending authorities are; I'm looking for the documents that you use to get an increase in this budget, if any.  And if there's none, just say so:  There were no documents.


MR. FISCHER:  So we'll take that away as the undertaking.


MS. SEBALJ:  I don't think it ever got marked in all of that.  It's TCU2.5.
UNDERTAKING NO. TCU2.5:  Enbridge to respond as to what it's prepared to do in response to SEC's request for DOCUMENTS that support Enbridge's SPENDING BUDGET.


MR. SHEPHERD:  My next question is -- and we'll take a break at 11:00.  Does that make sense?


My next question is -- this is in the RFP document.  This is the attachment 1 to CCC No. 1.  I was a little surprised by two things on page 2, and perhaps you could explain them.


The first is that you're requiring the consultant to say that they are going to endorse your IR proposal, that that's a deliverable.  They must endorse your proposal.


I don't understand how you can ask a consultant to endorse -- to commit to that before they have looked at your proposal.


MR. FISCHER:  So what we've asked both Concentric and LEI to provide to us is an opinion in terms of our IR -- our customized IR plan, and to advocate their opinions, not advocate on behalf of our proposal.


Our proposal, our IR plan, customized IR, was developed by us, and we haven't asked either of the two consultants to advocate for those plans.


MR. SHEPHERD:  I'm asking you to explain bullet number 3.  What does it mean, then?  Because it says "support an endorsement."  It doesn't say:  Give us an independent opinion.  And I'm trying to understand what it --


MR. FISCHER:  Well, that's what we meant.


MR. SHEPHERD:  Okay.  So the advocacy, then, in 4 and 5 is advocacy for their opinion, and not for you?


MR. FISCHER:  Correct.


MR. SHEPHERD:  All right.  Then on the next page, you talk about meetings with EGD's senior management and executives, including -- if you look at the chart -- a strategy session and a productivity recommendation, et cetera.


So I'm wondering if I can ask you to undertake to provide all presentations that Concentric gave to EGD management.


MR. COYNE:  We have that as an undertaking, and will be providing the presentation that we did do to Enbridge's management.


MR. SHEPHERD:  There's only one?


MR. COYNE:  Well, the process was one of periodic working meeting with the Enbridge team, but we did have a presentation to senior management in -- I want to say it was in --


MR. SHEPHERD:  February 2011, it says here.


MR. COYNE:  Yeah.  And I think it was around that time frame, and then after that we had periodic working sessions, either telephonically or otherwise.


MR. SHEPHERD:  And you did PowerPoints with them, some of them?


MR. COYNE:  Spreadsheets, PowerPoints, a combination of the above.


MR. SHEPHERD:  And we're asking for those.


MR. COYNE:  These were working documents for -- over the course of three years, pertaining to results that evolved over three years with data that was updated over three years.  I guess I question their value in this respect.


I mean, our final results are contained in our evidence that was filed here and in the 2013 case.


MR. SHEPHERD:  Mr. Coyne, you're certainly aware that one of the key issues in this proceeding is the level of independence of Concentric, and that you know that is going to be challenged because you filed reports expressing approval of more than one IR plan that were not consistent with each other.  So it's going to be a problem.  And so what we're looking for is what you were saying along the way to justify your changes in position.  So we're asking for your presentations.


MR. CASS:  Well, Jay, sitting here today, I'm not prepared to go down the road that -- you're suggesting that things are becoming relevant because you want to challenge the independence of Concentric.


Mr. Coyne has referred to a document that can be produced to you.  As to the production of further documents so you can take this tack of independence, that's not something we're going to agree to produce today.


MR. SHEPHERD:  I guess, Mr. Cass, what I'm asking is -- and I understand that you may well look at as some of those and say these are really covered by litigation privilege in some cases, or things like that.  I'm assuming you are going to look at any of them before you give them to us, but --


MR. CASS:  Yes.  If anything was to be given, yes.


MR. SHEPHERD:  That's right.  And what I'm asking you to do at this point is simply to say if any of this stuff ends up being relevant, is relevant.  And we're allowed to challenge independence and therefore we're allowed to ask for information on that.  If it ends up being relevant and it's not covered by some form of privilege, we'll provide it.


And that's all we're asking right now.  If there's a dispute later as to what should be in and what should be out, we can fight it out then.  But right now, this is the first step.


MR. CASS:  Yeah, Jay.  Again, as long as you understand that I'm not accepting the -- questioning independence of expert theory of relevance.


Within the relevance of the substantive issues in the case, yes, I would agree with what you've said.


MR. SHEPHERD:  So your position is that challenging the independence of an expert is not relevant to the proceeding?


MR. CASS:  My position is that this idea of challenging the independence of an expert cannot be used to go on a fishing expedition for things that would not be relevant to the substantive issues in the case, but someone says:  Well, we should get them anyway, because we propose to challenge the independence of that expert.


That's what I'm saying.


MR. SHEPHERD:  Okay.  Thanks.  My next question --

MR. COYNE:  I must stop, if I might, not on a legal issue, but something you said Mr. Shepherd.


You said that we have supported more than one IR plan.  Could you just specify what you meant by that?


MR. SHEPHERD:  Sure.  Enbridge has changed its IR plan from basically an I-minus-X or a variation on I-minus-X --


MR. COYNE:  Yes.


MR. SHEPHERD:  -- to a multi-year cost of service.  During the course of your work with them you committed to them at the outset that you would support the I-minus-X, and now you're supporting a multi-year cost of service.  This is not really complicated.


MR. COYNE:  Well, maybe I could correct the confusion, but our scope of work was to develop an I-minus-X, which we did.  That never changed.  And the I minus -- the I and the Xs that we've developed were considered by Enbridge, but they ultimately found that based on their capital projection, as we talked about, that it would not fit for them over the next five years.


But our evidence never changed in that regard.  It was the company's position informed by our analysis that changed, but our position never changed.


MR. SHEPHERD:  Well, that leads me to my next question then, and this is SEC No. 11 -- actually, do you want to take a break now?


MS. SEBALJ:  Yes, and I also need to mark that undertaking with respect to SEC 10B.  It's TCU2.6.
UNDERTAKING NO. TCU2.6:  ENBRIDGE to provide all presentations that Concentric gave to EGD management.

MS. SEBALJ:  And then why don't we take a break til 11:15?  Does that work?  Thanks.

--- Recess taken at 11:02 a.m.


--- On resuming at 11:37 a.m.

MR. CASS:  Sorry for the delay, everyone.  While we've been here in the room over the last day and a bit, work has been underway on a small document that's just a roadmap for answers to some of the written questions that came in in advance.  And we realized at the break that it was virtually ready and it could be of help to people, so we took a few extra minutes to finish this roadmap, and we can hand out copies.  That's all it was.


MR. SHEPHERD:  That should save some time.


MR. CASS:  I would hope so.


MS. SEBALJ:  Thanks.  This is really helpful, because I find when I go back over things, it's like:  Where was that question answered?  Was it orally or was it by undertaking?  Thank you.  This makes sense to me.

MR. CASS:  We intended to have it sooner, and I apologize that it took as long as it did.  But we have it now.
Questions by Mr. Shepherd:

MR. SHEPHERD:  So I'm on Question SEC 11, and I see that you've said 11C you will provide by way of undertaking.  You've also said, by the way, that 10B you'll provide by way of undertaking, and I thought that Mr. Cass was saying you're not going to provide that now.  So, I'm sorry, can you clarify?  Are you going to provide all presentations given by Concentric to EGD management during the course of their work on this project?


MR. CASS:  Jay, my recollection is that there was only one to management, and that will be provided.  It was going beyond that that was the subject of what I said.  Is that not right, Mr. Coyne?


MR. COYNE:  That is correct.


MR. SHEPHERD:  You only made one presentation in 2011 to EGD management?


MR. COYNE:  Yes.  And our discussion pertained to working results, draft results, things of that nature along that were shared with the working group.


MR. SHEPHERD:  Which didn't include management?


MR. COYNE:  Correct.


MR. SHEPHERD:  Thank you.


So in question 11, we're asking for certain pieces of information, and I'll explain them a little bit.  If you look at page 3 of attachment 2 to CCC No. 1, you'll see that Enbridge has committed to support the company's proposal for its IR, and then later comments that it's -- does some description of what the new plan is going to be.


So what we would like is -- at the time you wrote this which is December 2010, can you provide us with a list of the information you had on the company's proposal that you were committing to support?


MR. COYNE:  It's -- I can do that orally.  We had no information pertaining to the company's proposal at that point in time.  What the company provided us with its RFP was the settlement on its last IR plan and a couple of other background documents that all reflected Enbridge's history with its prior plan.  And there may have been two or three documents there, but all of them were backward-looking.  None of them were forward-looking, pertaining to the company's anticipated plan.  I don't think the company at that point knew what its anticipated plan was going to be.


Pursuant to the prior discussion, our response and our proposal to this RFP said that we would provide the analysis necessary to support the creation of that plan, but we didn't know what the plan was going to be.  And in fact, our analysis led the company to go in a different direction than it probably anticipated at that point in time.


MR. SHEPHERD:  Okay.  So -- all right.  The second item is -- 11B is -- you did a presentation at the kick-off meeting.  Can we have a copy of that?


MR. COYNE:  There was no -- there was no presentation.  That was just a "roll up your sleeves," working kind of a meeting.  No formal presentation on our part, but we did have a productivity study outline that we will provide by virtue of the undertaking in C.  And we did discuss that, I believe, at -- actually I'm not sure if we discussed that at that meeting.  It might have been provided shortly thereafter.


MR. SHEPHERD:  Then on page 6, you see that you were to provide an early draft of your study results and preliminary recommendations.  And then on page 7, the company was to provide you with feedback.


Can we have those, please?


MR. CASS:  Jay, no, we're not going to produce draft reports.  Certainly questions about feedback, if you want to ask those, but the draft reports, no, we're not going to produce anything like that.


MR. SHEPHERD:  But we can provide -- we can get a copy of the company feedback?


MR. CASS:  I don't know if there's anything to give you a copy of.  You can ask Mr. Coyne questions about it.


MR. SHEPHERD:  Was there any documents?


MR. COYNE:  There was no written feedback.  All the feedback that we had from the working group was done orally, typically telephonically.


MR. SHEPHERD:  Nobody ever sent you an e-mail or anything?


MR. COYNE:  I would say virtually all substantive feedback was done by virtue of either in-person working meetings or telephonically.  I mean, these are --


MR. SHEPHERD:  I'm going to ask you, then -- this is a -- you can understand this is a bit unusual.  Can you tell me whether there was ever a discussion about the level of record-keeping that should be used in this project, how much should be written down?


MR. COYNE:  No.  We have our own process and procedures, and the company, I suppose, does as well.  But no, we never discussed it with each other explicitly.


MR. SHEPHERD:  Thank you.  Then if you could go to attachment 3 to CCC No. 1; attachment 3 is your formal scope of work.

MS. SEBALJ:  Sorry, Jay.  Did you want to mark the 11C?


MR. SHEPHERD:  Sorry.  Yeah.


MS. SEBALJ:  So that's TCU2.7.

undertaking No. tcu2.7:  Enbridge to provide a response to SEC technical conference question 11C


MR. SHEPHERD:  Okay.  Good, sorry.


MR. COYNE:  Is it attachment 2 that you are interested in, our scope?


MR. SHEPHERD:  It's actually attachment 3 -- it's schedule 8 to your proposal.  It's attachment 3 to CCC No. 1.  It's headed up "scope of work".


MS. FRAYER:  Attachment 3 to CCC 1, Mr. Shepherd, is London Economics' scope of work.


MR. SHEPHERD:  Oh, sorry, that's what I meant.  Did I not say that?  Sorry.


And this has an attachment to it, attachment 1, which is instructions from Enbridge to you.  And I didn't see it in my copy.  Can you provide that, please?


MS. FRAYER:  I think we can provide it, yes.


MS. SEBALJ:  TCU2.8.
UNDERTAKING NO. TCU2.8:  enbridge TO PROVIDE ATTACHMENT 1 to CCC No. 1

MR. SHEPHERD:  And just in the context of this particular scope of work, your job was to show, as I understand it, that a revenue cap would be better than a price cap for Enbridge.  Isn't that right?


MS. FRAYER:  Well, there was different elements to the scope of work, but one of the elements was to look at revenue-cap regulation and consider it on the basis of also price-cap regulation.


MR. SHEPHERD:  Okay.  And in this context are you assuming that a multi-year cost-of-service model is a revenue cap?


MS. FRAYER:  Well, Mr. Shepherd, so what do you mean by "multi-year cost of service"?


MR. SHEPHERD:  It's a term that I've heard many consultants use, and I'm sure you've heard it before, that when you do a forward cost of service it can be for one year or for several years.  In this case it's for five years.


MS. FRAYER:  Well, the way I refer to Enbridge's plan is as they have named it, customized IR plan, so I myself haven't used the term "multi-year cost of service", so...


MR. SHEPHERD:  It is in fact based on cost of service for the next five years, isn't it?


MS. FRAYER:  Their plan is using the building-blocks methodology, which is something I talk about in my report, which does require forecasting of the various elements that go into a revenue requirement, or I believe it's referred to as an allowed revenue amount in the Enbridge application.


But at least for me, and from my own experience, when I think of cost of service I think of something a little bit different.


MR. SHEPHERD:  What do you think of, then?


MS. FRAYER:  Well, I think of cost of service, meaning that a company is being able -- has the ability to be remunerated on its actual cost of service.


MR. SHEPHERD:  Can you tell me, when is the last time that Ontario had that kind of cost of service?  Because forward cost of service is what is the standard in Ontario, right?


MS. FRAYER:  Excuse me, sorry?


MR. SHEPHERD:  Forward test year cost of service is the standard in Ontario, isn't it?


MS. FRAYER:  Yes, I understand that in Ontario you are allowed to have a single forward-year analysis of cost of service for rebasing.


MR. SHEPHERD:  Okay.  But you don't see that as a cost of service?

MS. FRAYER:  Well, I think of that as part of the Ontario regulatory model, but not necessarily a cost-of-service regime.


MR. SHEPHERD:  Okay.  Thank you.  Anyway, whatever you call it, this application is currently before the Board.  You consider that a revenue cap.


MS. FRAYER:  Yes, that is a way to characterize it.


MR. SHEPHERD:  Okay.  Thank you.


CCC No. 2 -- I'm just checking to see whether this is -- you're proposing to answer CCC No. 2 by way of undertaking, right?  Oh, by the way, did we get an undertaking for SEC 12?  Yes, okay.


So the various components of SEC No. 13, the breakdown and the table that we're asking for, you're going to undertake to provide those?


MR. KANCHARIA:  That's correct.


MR. SHEPHERD:  All right.


MS. SEBALJ:  So that's TCU2.9.
UNDERTAKING NO. TCU2.9:  TO PROVIDE THE BREAKDOWN AND TABLE, THE VARIOUS COMPONENTS OF SEC 13

MR. QUINN:  Ms. Sebalj, just before we move on -- it's Dwayne here -- did this get marked as an exhibit?  Because there's content in here that probably should be on the record.


MR. SHEPHERD:  My questions, you mean?


MR. QUINN:  The response -- the Enbridge -- the road map.  There is content in answering Energy Probe question 4 and 5 that I presume we want on the record.

MS. SEBALJ:  I don't think we've marked Jay's questions either, right?


MR. CASS:  They have been.


MS. SEBALJ:  Yeah, they've been marked.  They're TC1.3.  But we can mark this document TC2.1.


MR. QUINN:  Okay.  Thank you.  Sorry.
EXHIBIT NO. TC2.1:  ROADMAP DOCUMENT PROVIDED BY ENBRIDGE

MR. SHEPHERD:  So SEC 13, did we get a number for that?

MS. SEBALJ:  We did.  Did I say it out loud?  TCU2.9.

MR. SHEPHERD:  I'm losing track.


So in attachment 1 to CCC No. 2, at the top of page 2 you talk about -- this is your report to the board, right, board of directors, or to the -- I guess a committee of the board.


MR. KANCHARLA:  That's correct.


MR. SHEPHERD:  And what you said is that, in the last sentence:

"Although cost efficiency was an element in producing these favourable results, most of the excess earnings were derived from reductions in dead interest rates and tax rates, neither of which is expected to be repeated in the near future."


Do you have a breakdown of how much of your 131 basis-points average over earnings came from dead interest rates and tax rates and how much came from efficiency?


MR. KANCHARLA:  That's part of your question that we'll try to answer through our undertaking, Mr. Shepherd.


MR. SHEPHERD:  Okay.  All right.  So the next -- oh, yeah, and I don't think I've asked this in the written questions.  Oh, no, I have.  Okay.  Never mind.


So question 14 is about which risks are going to flow through to the --


MR. LISTER:  Sorry, Jay, did you want to give SEC 13 an undertaking number?


MR. SHEPHERD:  I thought we had it.  I just asked --


MR. LISTER:  We did.  I'm sorry.


MR. SHEPHERD:  We're all confused now.  The plan is to get the witnesses confused.  Then we'll all have fun.


Okay.  SEC No. 14 refers to Energy Probe No. 1, and basically what we're trying to figure out is, what are the things that -- for which it's intended that the ratepayers be at risk, and we understand it to be that all of the volume-related risks under your proposal will flow through to the ratepayers, be slowly -- solely ratepayer risk; is that right?


MR. KANCHARLA:  I just wanted to clarify here.  That's why we wanted to speak to it early here.  I wanted to break it up.  This is very similar to a first generation as well.  Take a component of average use.  Average use, there is a true-up variance account, so that implies that neither the ratepayer nor the utility is at risk from an average use true-up perspective.


And in terms of the weather, again, it's similar to the first generation.  Even the utilities at risk are ratepayers at risk as well.  And the customer numbers, what we are proposing is an annual true-up of total unlocked customers on an annual basis.  So that --


MR. SHEPHERD:  That's new, right?


MR. KANCHARLA:  No, even in our first generation we had, on an annual submission basis, that we would provide the unlocked customers' forecast.


MR. SHEPHERD:  On a forecast.


MR. KANCHARLA:  On a forecast.


MR. SHEPHERD:  Not a true-up.


MR. KANCHARLA:  There's no true-up, sorry.


MR. SHEPHERD:  So the true-up is a reduction in your risk and increase in ratepayer risk, right?


MR. KANCHARLA:  Sorry, maybe I need to clarify here.  In terms of unlocked customers it is on an annual forecast.  The true-up is only for the average use.


MR. SHEPHERD:  Okay.  All right.  So I guess my question is, what volume-related risks are remaining with the utility at this point?  Any?


MR. KANCHARLA:  Weather is still a volume risk that is borne by the utility.


MR. SHEPHERD:  Okay.  All right.  The next question is SEC 15.  I see that that's not on this list at all.  Oh, no, it's here.  Okay.


Can you please explain why your strategic plan is not relevant to this proceeding?


MR. CASS:  Jay, I think the answer to this one is the same also as the answer to your No. 44, if you want to note that in relation to the long-range plan.


There are two aspects to the answer in respect of both documents.


First, there is not a strategic plan or a long-range plan for Enbridge Gas Distribution itself.  The documents both roll up Enbridge Gas Distribution with other businesses, meaning the numbers are not directly relevant to Enbridge Gas Distribution.


MR. SHEPHERD:  Can I stop you for a second and ask for clarification on that?

MR. CASS:  Yes.

MR. SHEPHERD:  There's a document for Enbridge Gas Distribution, but it is a -- a strategic plan document, but it includes unregulated components of –- like affiliates and subs?


MR. CASS:  I don't have it in front of me.  I don't believe it's an Enbridge Gas Distribution document.  I believe it's a document that rolls a number of businesses together, including Enbridge Gas Distribution.


MR. SHEPHERD:  I understand, but it's not Enbridge Inc., is my point?


MR. CASS:  No.  I don't believe it's Enbridge Inc.


MR. SHEPHERD:  This is more granular than that?


MR. CASS:  I believe that's correct.


The second point I think was mentioned in an interrogatory response.  The numbers in the documents are not meaningful, in light of the accounting error that's been described.  And in fact that was the reason why the accounting error was mentioned, that the numbers really are not meaningful because of the impact of the accounting error.


MR. SHEPHERD:  So your strategic plan is going to change?  The strategic plan is a forward document, right?  So I guess the fact that you made a mistake in the past doesn't change what your forward forecasts are, unless you do a new plan, right?


MR. CASS:  Yeah.  As to the new plan, I can't answer that.  I don't know whether any of the witnesses can talk to what is happening on a go-forward basis with the plan, but I can't.  Or perhaps Andrew can.

MR. MANDYAM:  As far as the next year's strategic plan, that will be the commencing in the May time line and going forward.


MR. SHEPHERD:  There is -- Enbridge always operates under -- within the context of a current strategic plan.  Is there a current strategic plan under which Enbridge Gas Distribution is operating right now?


MR. MANDYAM:  Not one that's valid, no.  No.


MR. SHEPHERD:  Is the company following it or not?

MR. MANDYAM:  Our customized IR plan is our -– the Gas Distribution's plan, for five years forward, capital investment, et cetera.


MR. SHEPHERD:  So then you've advised your board of directors that strategic plan doesn't count anymore?


MR. MANDYAM:  Correct.


MR. SHEPHERD:  So as far as they know, Enbridge Gas Distribution currently does not have a strategic plan and you are not going to start working on it until May?


MR. MANDYAM:  That's correct.


MR. SHEPHERD:  Next question relates to SEC 5, if I can find it.  Sorry, there's a lot of pages in between.  Here we go.


You've -- I guess you've answered this question, that you assume that the Union IRM is a revenue cap.  And you've explained why you think that.  Okay.


You've going to provide the calculations.  I guess I'm not sure I understand how the site restoration was dealt with in this calculation.  Were all of this impacts backed out, including tax impacts?


MR. SMALL:  Sorry, yes, I can explain.  The results in terms of allowed revenues are presented in I.A16.EGDI.Energy Probe 11, but in terms of specifics, yes, the tax deductions were removed.  All depreciation rates were held at 2013 approved levels.  The adjustments to accumulated depreciation that we were making to reflect the amounts to be given back via the rider were removed.  So I think that's everything.  Tax deductions that we're proposing.  The depreciation rates were left constant.


MR. SHEPHERD:  The drawdown of the previous balance?


MR. SMALL:  And the drawdown of the previous balance was removed.  So it's as if none of it was happening.


MR. SHEPHERD:  Wonderful.  So this was built from a spreadsheet, right?  There's actually a spreadsheet with all those calculations behind it, right?


MR. SMALL:  Numerous spreadsheets that link together.


MR. SHEPHERD:  Can you file that, please?


MR. SMALL:  I don't believe we're willing to file live spreadsheets.


MR. CASS:  That's correct, Jay.  It's correct that Enbridge is not filing live spreadsheets.


MR. SHEPHERD:  The Board has a policy that you have to provide live spreadsheets if something is prepared by spreadsheet.  Why would you think that's okay?


MR. CASS:  Well, I know that Enbridge has tried it in the past and has had problems with it in the past.  The problem is with a live spreadsheet, people can insert numbers, produce a result from that, and the effort to deconstruct the result and figure out how it was arrived at is more -- outweighs the value of what is done.


I know on a number of occasions the issue has been satisfactorily handled in other ways, which would include provide data to be –- to provide the data to Enbridge to insert it into the spreadsheets or come to the Enbridge office and work with the people there.  But it has been Enbridge's position -- I believe consistently -- that it will not produce the live spreadsheets for the reason I've given.


MR. SHEPHERD:  So then will you produce the spreadsheets that this is -- that are behind this, all of them, in PDF format so that they are not live, and a print, another PDF print, in which the numbers are replaced by the formulae?  Which you know you can do in Excel, right?


So that we don't have the live spreadsheet but we have all the information.


MR. SMALL:  Yes.  I think that's going to be -- I'm worried about time constraints in terms of trying to -- you are talking five years, so we have five -- that could be hundreds and hundreds of spreadsheets.


MR. SHEPHERD:  It doesn't actually look all that complicated to me, but...


MR. SMALL:  Well, we have rate base models that tie into capital structure models that tie into income models, and they all work together with supporting files as well.  So to try and print them all out would be quite the undertaking, and to track -- for someone to try to determine how they link together, I guess it would -- it could potentially show up when you print the formula that it's linking to another file.


MR. SHEPHERD:  I understand what you're saying.  I didn't realize you were running your full rate model in order to redo the numbers.  It's a rate model.  I get that.  It's a complicated model.


Can you provide us whatever you can, whatever pages would be helpful in understanding how you got to the numbers?  Go through and identify where the big changes are, where the major changes are, so that we can see where the -- what the impacts are?  Can you do that?


MR. SMALL:  If we were to provide -- I'll take this -- exhibit similar to what was filed in the C -- C3, tab 1, D3, tab 1.  Like, the utility income, the rate base backup --


MR. SHEPHERD:  That's actually, I don't think, necessary, because the Union component of this we've already asked for and you've already said you're going to provide us in another answer, right?  So that's not different.


MR. SMALL:  I'm only speaking to our top line.

MR. SHEPHERD:  So the top line number is really just adjusting for certain things

MR. SMALL:  Correct.


MR. SHEPHERD:  So all the details behind the base case that you're working from we already have in the application.  We don't need that.


MR. SMALL:  Correct.


MR. SHEPHERD:  So what we need is the stuff that shows us what you adjusted and how you numerically adjusted it.  Can you do that?


[Witness panel confers]


MR. SMALL:  I'll answer yes, we can undertake to --


MR. SHEPHERD:  Awesome.  Thank you.


MS. SEBALJ:  It's TCU2.10.
UNDERTAKING NO. TCU2.10:  EGDI TO ADVISE WHAT ADJUSTMENTS WERE MADE AND EXPLAIN HOW THEY WERE ADJUSTED.

MR. SMALL:  Sorry, can I just clarify?


MR. SHEPHERD:  Sure.


MR. SMALL:  As long as we provide the sheets that show where the inputs have changed, do you still want copies that show links to everywhere?


MR. SHEPHERD:  What I'm trying to figure out is, I want to be able to take these numbers here on page 2, go to your revenue requirement numbers in the application, which I know how were built out, and figure out how you got from one to the other.


MR. SMALL:  Right.  And the details provided in Energy Probe 11 aren't sufficient?

MR. SHEPHERD:  They don't -- they don't help us with that, no, I don't think.


All right.  Next is with respect to SEC No. 6, and this is -- SEC 17 is our question.  I don't understand why you don't regularly benchmark your results and your forecast to Union Gas.  It would seem intuitive that you would, and can you explain why you don't?


MR. FISCHER:  So we do benchmark against Union Gas, but not on a standalone basis.  We benchmark as a part of a group of companies, and, you know --


MR. SHEPHERD:  I'm not --


MR. FISCHER:  -- Mr. Coyne has described how that benchmarking process works.


MR. SHEPHERD:  I'm not really asking so much about formal benchmarking.  I know you had Mr. Coyne do a benchmarking study, and we've had benchmarking studies done in the past.  I'm asking -- it would seem logical to me that both you and Union Gas would regularly look at the information for the other utility in various aspects, because you're so close together, and similar size, and be looking to see how you compare, just on a routine basis every day.  Do you not do that?  And if so, why not?


MR. FISCHER:  I'm not aware that we do that.


MR. SHEPHERD:  Do you know why?

MR. FISCHER:  No.


MR. SHEPHERD:  Next is No. 7, and you're going to provide us with an undertaking to provide that data?

MR. KANCHARLA:  That's correct, Mr. Shepherd.


MS. SEBALJ:  TCU2.11.
UNDERTAKING NO. TCU2.11:  EGDI TO RESPOND TO SEC TECHNICAL CONFERENCE QUESTION No. 6


MR. SHEPHERD:  This is the data in the chart.  There's -- there are two graphs here.


MS. GIRVAN:  Specific numbers behind the chart.


MR. SHEPHERD:  The number's behind the two graphs.


The next question is SEC 22, which is question 19.  And the first and obvious thing is, this is -- I guess this refers to a table that Concentric did, right, Mr. Coyne?


MR. COYNE:  Yes, it does.


MR. SHEPHERD:  And so on that table it says "during IR", which actually refers to Enbridge being under IR, right?


MR. COYNE:  Yes, that was the intent.


MR. SHEPHERD:  And we extrapolate from that -- and tell us whether that's correct -- is that during that period Enbridge is more likely to be under IR than any of the comparators, because at least some of the comparators will not be under IR, so on average Enbridge -- because Enbridge is 100 percent.  And then conversely, when Enbridge goes on cost of service, Enbridge is less likely to be on IR relative to the comparator group for those years, because at least some of them would have been under IR.  Is that a fair conclusion to extrapolate from your terminology?


MR. COYNE:  In that case we mean exclusively Enbridge as being under IR for the point of comparison of those time frames, but what we're not saying is that the other companies weren't under some form of IR program.


MR. SHEPHERD:  No, understood, but it's correct that at any given point in time some of them would be and some of them wouldn't be.


MR. COYNE:  Yes, as we think of IR here, yes, it's true, and I would say that all -- all companies operate under some -- all regulation has incentives associated with it.


MR. SHEPHERD:  I see.


MR. COYNE:  But with that nuanced addition I would say that's correct, that some were under formal IR programs, multi-year, et cetera, and others are just normal -- are under normal cost-of-service type regulation with built-in incentives.


MR. SHEPHERD:  A forward test-year cost of service is still a type of incentive --


MR. COYNE:  It contains incentives as well.


MR. SHEPHERD:  Because if you can cut your costs you still make more money.


MR. COYNE:  Correct.


MR. SHEPHERD:  The other question relating to this interrogatory is, you excluded the type of regulation as a business condition, and I didn't understand why that was.  Maybe you could expand on that.  Why did you think it was not a statistically valid business condition?


MR. COYNE:  Well, as I stated another way, we didn't try to separate these companies based on the regulatory model they were operating under.  And the reason for that is that if you look at these 25 companies, there are 25 different regulatory models, and it would be virtually impossible to separate them statistically based on that form of regulation.


As many different options as there are for capital cost recovery, O&M cost recovery, volume true-up, variance accounts, things of that nature, we do very detailed analysis of ways that companies are regulated, and as a result of that I think that statistically you would not be able to come up with a meaningful separator that would allow you to do that from a modelling standpoint.


MR. SHEPHERD:  I understand that there's a lot of variability, and it's not simply a category A and category B, but that's true of all the other business conditions too, isn't it?  Isn't it true of weather that at some point you have to say, well, this is more like this or more like that.


MR. COYNE:  Well --


MR. SHEPHERD:  That's what you do with all business conditions.


MR. COYNE:  Whether we can measure it with heating degree days, and there are those that do try to quantify regulatory environments.  You know, RRA does that, for example.  But they are really ranking the regulatory environment.  They're not really ranking the degree.


I think what you are asking is, can you rank the degree of incentive that these companies are operating under.  And you really cannot.


MR. SHEPHERD:  Okay.  Thank you.


Next question, No. 20, relates to SEC No. 23, Interrogatory No. 23.  It appears from your answer that implicit in your study is that U.S. and Canadian economic conditions are identical?


MR. COYNE:  No.  We have not said that.  But we have analyzed this issue at length, the differences between Canadian and U.S. business conditions and risk conditions as it relates to utility regulation, and provide a lot of that evidence before this Board.


What we are saying with our study is that you can develop a meaningful sample of U.S. utilities, and when you are conducting index analysis you're comparing quantities of inputs to quantities of outputs, and therefore those indices can be used cross-border without making explicit adjustments.


When we compare it from a benchmarking standpoint we do make adjustments for differences between Canadian and U.S. dollars.  When we apply those results to Enbridge, our TFP analysis, for example, of course, we're using Canadian inputs to that analysis, and we're using appropriate Canadian monetary instruments, debt rates, returns on equity that are appropriate for Enbridge specifically.  When we're addressing the U.S. sample, we're using their appropriate inputs.


But the fact that we're taking it down to an index translates well cross-borders without making those types of adjustments.

There are studies that have been done that show that the U.S. economy is more productive than the Canadian economy.  We've seen cases where the analysts offering this work make downward adjustments to Canadian productivity when they use a U.S. sample that we have not attempted to do so, because, quite frankly, I don't think the data that we have in a macro level allows you to do so reliably.


MR. SHEPHERD:  If the U.S. economy is more productive than the Canadian economy, intuitively I would have thought the effect would be that a company like Enbridge, for example, would have more opportunity to be productive, because it's a Canadian company.  Is that not the right conclusion to reach?


MR. COYNE:  That's not the right conclusion to reach.


MR. SHEPHERD:  So it's -- what's the right conclusion to reach?


MR. COYNE:  Well, if you knew nothing else, if you just looked at the macro-economies of the U.S. and Canada, the U.S. economy is -- as measured this way is typically a more productive economy.  More outputs for the given inputs.  And there are a lot of reasons for that, having to do with the mix of business and industries in Canada versus the U.S.


Some argue that there are differences in labour productivity and things of that nature, and those are certainly beyond the scope of things that we attempted to address here.


But there are those that also measure in a macro way the productivity of the utility sector, and doing a combination of those two things, they will attempt to apply those macro differences.  And if you do, they can be 0.75 or even up to 150 basis points, so up 1-and-a-half percent more productive a US utility could be measured as being, using these macro screens, than a Canadian utility.


But I think it's more appropriate to assume, based on the sample of utilities that we've chosen, that Enbridge should be able to achieve that same degree of productivity.  So we've not attempted to downgrade Enbridge by virtue of the fact it's a Canadian utility.


There was evidence presented to that effect in Alberta, for example, where it was suggested -- I believe it was Brattle -- that over a 1 percent difference should be applied to Canadian utilities when you are using a US sample.


MR. SHEPHERD:  So if you look at a US sample and you get a TFP from it --


MR. COYNE:  Yes.


MR. SHEPHERD:  -- and then you want to use that as a proxy for Canada, you have to do a sort of a cross-border adjustment of -- in Brattle's case -- a hundred basis points to get to a correct Canadian TFP?


MR. COYNE:  Again, that was Brattle's recommendation.  I don't believe it was accepted by the board.  Myself, I don't believe that it's appropriate to do so.  I believe the companies we've used are -- by virtue of converting their quantities to indices, I think they can be used and appropriate comparisons can be made.  I would argue that PEG has done the same thing in their analysis using a US proxy sample in their work, and I don't believe they make a specific adjustment for cross-border comparisons.


MR. SHEPHERD:  Next question is with respect to our Question No. 21, which is SEC Interrogatory No. 24, and we're just trying to understand how if the use -- the electricity distribution results that PEG got are not relevant, why are you referring to them here?  What relevance should be taken from this, the reference to those, in this answer?  What should the Board conclude from this?

MR. COYNE:  Well, PEG has done this work for a long time, and I know that they were able to obtain Ontario-specific data in order to do the work that they did in the RRFE.  So I think that they -- for that reason, they warrant attention.  The industries are certainly similar.  There are similar cost drivers pertaining to the cost of labour.  And business conditions that are -- that are similar between Ontario electric and Ontario gas distributors, but they're not exactly the same.


I think the trends are informative.  The trends identified by PEG are consistent with studies -- our study and consistent with studies that we've seen elsewhere, so I think in that sense that they are informative for the Board, but I don't think they should be taken as a direct input to the calculation of what the appropriate X factor is for a gas distributor.  But I think they are informative.


MR. SHEPHERD:  I guess I'm...


MR. COYNE:  I look at the trend as being indicative, the use of earlier periods and latter periods.  I think some of those same drivers have impacted -- and certainly in comparison to our results, I think we're picking up similar trends.  The fact that Ontario's electric distributors have become less productive over the last decade is what we've also measured for the gas distribution sample that we've used.  We've also measured that in Enbridge-specific results.


MR. SHEPHERD:  So you think the causes are similar?


MR. COYNE:  I do.


MR. SHEPHERD:  Have you identified those causes?


MR. COYNE:  Only insofar as the analysis we've conducted, but I think we've seen changes in the macro economy that have affected the outputs.  A slowdown in customer growth, for example, would affect the output side of the equation for a TFP analysis.  I think they've been comparable.


MR. SHEPHERD:  The slowdown in the outputs have been comparable in gas and electric?


MR. COYNE:  They have been affected by comparable conditions, a slowdown in the economy.  I don't know that the change in customer growth has been exactly the same for electric versus gas customers.


MR. SHEPHERD:  The reason why you can't say:  Look, let's look at this electricity TFP and just apply it to gas is because you don't have any empirical work to make the connection, right?


MR. COYNE:  Well, I would even go further than that. I have empirical work that is better than that.  I've used a gas distribution set, so I don't need to do that.


If I were only reliant on other work, I might look at it and say: Gee, that's an electric subgroup.  What kinds of adjustments would I have to make?

In Alberta, for example, the Alberta Utilities Commission relied on a group of electric companies in terms of the TFP analysis that was provided to it, in determining X factors for both their gas and electric distributors.


So there are times that analysts use electric data and then present that as being appropriate for gas distributors.


MR. SHEPHERD:  I understand that.  What I'm asking here is:  You haven't done that exercise, right?


MR. COYNE:  I have not, nor do I think it's appropriate to do so when you have the appropriate gas data.
Questions by Dr. Kaufmann:

DR. KAUFMANN:  Sorry, can I just follow up briefly?  You were talking about our TFP study for electrics and then the gas TFP, in particular with respect to output.


Are you aware our study is for are the entire province of Ontario on the electric side?


MR. COYNE:  Yes, I am.


DR. KAUFMANN:  And Enbridge obviously serves a --primarily the GTA and a few other areas, but mostly concentrated in the GTA.  And that's correct?


MR. COYNE:  Correct.


DR. KAUFMANN:  So do you think there's any differences between output growth in the GTA?  Do you think there's any differences in output growth in the GTA versus the province as a whole, and does that have any implications for comparing electric versus a gas distribution TFP, a gas distribution TFP for Enbridge?

MR. COYNE:  Two parts to your question.  Do I think that output growth would vary across the province?  I would assume it does.


Second part, does that implications for application to Enbridge?  Yes, it would.


DR. KAUFMANN:  Just in general, do you think for the province as a whole, output growth would be higher or lower than in the GTA?


MR. COYNE:  I think that the -- well, my impression would be that the Toronto metropolitan area is growing faster in general than the rest of the province, but that's just the output side.  I think there would also be input considerations as well, in terms of costs, really, for all resources that are available to utilities operating within the metropolitan area and outside.


So the ability to convert inputs to outputs would also vary in a metropolitan area.


DR. KAUFMANN:  If there are economies of scale in a gas distribution, and if output is growing faster in the GGTA relative to the province as a whole, would the implication be that you would expect, given that there are economies of scale -- that TFP growth would be growing faster for a company serving the GTA versus a TFP for the province as a whole?


MR. COYNE:  Well, it depends on whether or not those economies of scale are offset by offsetting cost differentials and the ability to service lines in the metropolitan area.  So I think you'd have both factors at play, and for that reason I prefer using our seven-company gas distribution subset, because there at least we can identify large gas distributors that are growing fast, as Enbridge has been.  And I think we can avoid some of those complications as a result of that.


But I think those are all worthy considerations.


DR. KAUFMANN:  When you say "cost differentials," there's going to be both a productivity and an input price component to any cost differentials?


MR. COYNE:  That's right.


DR. KAUFMANN:  Thank you.
Questions by Mr. Shepherd:

MR. SHEPHERD:  My next question, No. 22, relates to SEC No. 28.  And I think this is for you, Mr. Coyne, if I'm not mistaken.


The conclusion that you reached is that the O&M increases and decreases that arise out of capital spending would not have a meaningful impact on the deficiency.  What assumptions did you make to reach that conclusion?  What levels of impact did you use to reach that conclusion?


MR. COYNE:  This was based on an assumption that -- there probably would be impacts, as I understand the question, pertains to the dynamic interaction between capital spend and O&M --


MR. SHEPHERD:  Yes.


MR. COYNE:  -- and I think it probably cuts both ways, as we've indicated in the answer.  It could be increased.  For example, the GTA brings additional O&M cost, and also reduces O&M costs in the other direction, and we did not -- we did not have the ability to separate that dynamic interaction.


MR. SHEPHERD:  Well, all of your data came from the company, right?


MR. COYNE:  All of which data?


MR. SHEPHERD:  All of your data in your study came from the company.  All the data with respect to Enbridge.


MR. COYNE:  With respect to O&M and capital costs, yes.  Yes.


MR. SHEPHERD:  So you didn't have to do any empirical work on the O&M.  You just needed to get the data from them and then see what the relationships were, right?  You didn't do that.


MR. COYNE:  We did do that.  We did get the O&M and the capital cost data from the company, yes.


MR. SHEPHERD:  But you didn't get the interaction between capital and O&M.


MR. COYNE:  Only to the extent it was already baked into those numbers.  We made no independent analysis pertaining to the interaction of capital and O&M.


MR. SHEPHERD:  Okay.  So then I'm going to ask the company, do you have that information, the interaction between capital spending and OM&A increases and decreases over the planned term?


MR. KANCHARLA:  Mr. Shepherd, when the departments have built in their O&M forecast for the IR term, they would have considered the impacts of the capital spend.  I will not be able to provide the details explicitly of the interplay.  Maybe the capital panel can provide if any specific capital investments, the increase or decrease in the O&M.


MR. SHEPHERD:  For the big stuff you have business cases, right?  The big projects you have business cases.


MR. KANCHARLA:  That's correct.  The capital panel has developed very detailed evidence in terms of all the capital investments.


MR. SHEPHERD:  Do you want to stop for lunch at some time soon, or do you want to go on?  What do you want to do?


MS. SEBALJ:  I'm not sure that it -- sorry, I'm getting some people waving at me.  Again, I'm not the boss.  How do people feel about when to break?  I don't know if it matters if we break now or at 1:00, if we're going to break...


MR. CASS:  We would appreciate it if it would be possible to do little time check.  I don't know whether that can be done.  We do have another panel waiting, and I don't know whether it's sensible to tell them they shouldn't wait any longer.  They won't --


MR. SHEPHERD:  I think it's unlikely we'll get to the other panel.


MR. CASS:  You think it is?  All right.  And then the other --


MR. SHEPHERD:  I'm on No. 22.


MR. CASS:  Okay.  And the other --


MS. SEBALJ:  Right.  But there are a number of questions that you've identified in this exhibit that are going to different panels.


MR. CASS:  That's correct.


MR. SHEPHERD:  Yes.


MR. CASS:  And I did just want to remind everyone that, in terms of this panel itself, that Julia can't be here next week, so that's the issue on the other side, if this panel were to go extra long.


MR. SHEPHERD:  Yeah, I've advised my colleagues on the intervenor side that they need another hour and 15 minutes to finish by 4:00, and so I have to give them that time today.


MR. CASS:  So it looks like we're aiming to finish this panel today but not get to the next panel.


MR. SHEPHERD:  That's right.


MR. CASS:  All right.  Thank you.


MS. SEBALJ:  So on that basis should we take an abbreviated lunch to be sure that we finish by 4:00 today?  And what can people live with?  If we break now can we be back by -- grab a sandwich and be back by 1:00, or is that too abbreviated?


MR. SHEPHERD:  That's fine.


MS. SEBALJ:  Fine?  Madam Court Reporter?  All right.  Let's do that then.  Thanks.


--- Luncheon recess taken at 12:29 p.m.


--- On resuming at 1:17 p.m.

MR. SHEPHERD:  The next question is Question 23, SEC 23, which refers to Staff 19.


And our calculation is that but for the things that you're saying that you've excluded from your O&M, you would have been requiring a 6-and-a-half percent increase in O&M from 2013 to 2014; is that correct?


MR. KANCHARLA:  That's correct, Mr. Shepherd.  We confirmed that it is a 6-and-a-half percent O&M increase if we add the 16 million of cost pressures that we did not include in our original forecast.


MR. SHEPHERD:  If you calculate the increase in your O&M other than pensions, that's 7.8 percent, right?


MR. KANCHARLA:  That's correct as well.  So what we have done to ensure -- both of us did the math.  We looked at the previous calculation, where we laid on the 16 million excluded costs, and then removed the pension costs and then it yields 7.8 percent.


MR. SHEPHERD:  Excellent.  Now, there's a typo in our question. I apologize.  What we were asking for is the current O&M budget that you're actually using right now for 2014.  Can you provide that to us, please?


MR. KANCHARLA:  For 2014, our current budget is the 2014, what we filed in this application.


MR. SHEPHERD:  So that's the budget that the company is working to right now; there's no separate budget?


MR. KANCHARLA:  That's correct.


MR. SHEPHERD:  Thank you.


Question 24 is to -- is -- I think you've given it to us, right?


MR. CASS:  That's right, Jay.


MR. SHEPHERD:  On the next page?  That's good.


And then Question 25 is -- you've also given it to us?


MR. KANCHARLA:  That's correct.  It's in the handout.


MR. SHEPHERD:  Okay.  I understand that.


Do you actually have a capital finance plan, an internal document in which your finance department, for example, would set out:  Given these particular flows of capital operating cash, here is our plan for when we're going to finance and how much we're going to finance and what we forecast the cost to be.


Do you have a document like that?  Most of the companies do.


MR. KANCHARLA:  That was provided in the evidence, in the exhibits.


MR. SHEPHERD:  So the explanation you have in the evidence is everything in your plan?  You don't have a plan document of your own, an internal document?


MR. KANCHARLA:  What we provide our treasury is the finance requirements, what was filed in the E exhibits, but I can check again.


MR. SHEPHERD:  Okay.  I would have thought your treasury department is -- it's EI that does that, right?


MR. KANCHARLA:  That's correct.  We have a centralized operation.


MR. SHEPHERD:  I would have thought they would have, then -- if you provided your cash needs, they would then be responding to you, saying:  This is how we're going to finance it.


MR. KANCHARLA:  That's correct.


MR. SHEPHERD:  That's some sort of internal document, which I don't think is filed.  If it's filed somewhere that's good, but I didn't see it.


MR. KANCHARLA:  Let me confirm with the department, and if it's available, I'll --


MR. SHEPHERD:  Thank you.  Is that


MS. SEBALJ:  TCU2.12.
UNDERTAKING NO. TCU2.12:  EGDI TO PROVIDE CAPITAL FINANCE PLAN.


MR. SHEPHERD:  Now, No. 26, I don't actually see on this list here, but maybe I missed it.  But No. 26 relates to SEC 43.


And we've calculated the impact on -- of the shift in your financing mix of $79 million and a net 1.4 percent rate increase.  Can you confirm that that is accurate?


MR. SMALL:  I believe on the document it does say it will be addressed by the cost allocation rate design panel.


MR. SHEPHERD:  Well, sorry --


MR. SMALL:  We did confirm that the $79 million is correct.  It's the rate implications that I've been unable to confirm.


MR. SHEPHERD:  Okay.  Thanks.  Sorry I didn't see that.


Then our No. 27 is -- there's this thing about how you want to change the definition of Z factor.  And you use as an example the cross-bores, and we understood that the cross-bores weren't a problem with the definition, the event component of the definition, because they are -- clearly the TSSA codification was an event.  But the Board concluded that that wasn't the event that caused the expenditure.


Is that a fair characterization of what you think happened?


MR. FISCHER:  I think that that's a fair characterization of what did happen when the cross-bore was –- Z factor was applied for.


With our proposed redefinition on Z factor, where the focus is on causes rather than events, the TSSA regulatory change, in our view, if it would have been -- the application would have been made under this new Z factor language, that it would have been considered a cause.


Having said that, the Board in their decision clearly referred to it as a causal event, so the likelihood of us getting Z factor approval even with our new language for the cross-bore application probably would not have succeeded, even with our new proposed language.

MR. SHEPHERD:  That's very helpful.  What I'm trying to understand, then, is what are the circumstances in which you would -- this new definition would cause a different result?  Can you give us an example where it would cause a different result?


Because the example you used in your evidence is cross-bores, and I'm trying to get a sense of what the nature of the change is, by way of example.


MR. FISCHER:  I think a good example would be the -- would actually be with the pension application of the Z factor, where a change in legislation, we would have viewed that as a cause rather than an event.  And in that case -- this is just an example -- so that would have fulfilled the new criteria on cause.  And in terms of event, in our view for the pension fund issue event, it probably would have been the decrease in interest rates was the event associated with that, but the cause was the change in legislation around pension fund recovery.


So that would be an example, I think.


MR. SHEPHERD:  All right.  I understand.


Our next question, No. 28, refers to CCC No. 12 under 10, I guess, issue A10.  If I can find it.


We're asking you to confirm the math that under the previous period of the total of overearnings, 72 percent went to the shareholder and 28 percent went to the ratepayers.


MR. SMALL:  Yes, I confirm the math.  I would just like to say, though, that, like, these are normalized gross overearnings, so the amount that went to the ratepayer is correct.  That's what we would have returned through ESM.


Of course the company's realized share would be net of taxes.


MR. SHEPHERD:  Well, I guess to the extent that ratepayers were taxable, it would be -- and then this was deductible expense, it would be the same for them, right?


So for example, a company, a corporate customer of yours, if you reduced their rates, that increases their profits and they pay tax on that, right?


MR. SMALL:  I'm sorry, could you repeat your example?


MR. SHEPHERD:  If you have a corporate customer -- an industrial customer, for example -- and you reduce their rates by way of earnings sharing, that increases their taxable income, because it reduces their expenses, and thus they pay tax on it, right?  It's the same as you.


MR. SMALL:  Fair enough.


MR. SHEPHERD:  Okay.  The next question we have, number 29, is with respect to SEC 46, and let me just get it out, because the question may be a tad cryptic.  This is with respect to your outside-of-management's-control criterion, and what we're trying to determine is, are you now proposing that if management could have prevented -- largely prevented a cost, but not entirely prevented it, some of it was going to happen anyway no matter what they did, it's outside of their control, that therefore that criterion would be met, and they would qualify for Z factor treatment?  And I didn't understand your answer, so...


MR. FISCHER:  So the actual criteria that we're proposing is to be reasonably within management control, and so, you know, the way you described it may apply to that, but I think our contention is that someone could make the case that virtually everything is within management control to some degree, and so hence the language that we're proposing here, that the criteria be such that only costs that would be reasonably within management control be not applicable to the Z factor approval.


MR. SHEPHERD:  Just give me a second to get at the original evidence, because I think we were quoting from what you said.  It's A-241, page 5.


So here you say -- I'm now reading from this in B:

"The key examine (sic) in relation to management control should be upon whether management could have entirely prevented the costs."


So I took that to mean that your new criteria would produce that result, that if they haven't -- couldn't have entirely prevented the costs, then the Z factor could apply, and you're saying that's not correct.


MR. FISCHER:  No, no, no, I'm saying that is consistent with costs not being within reasonable control of management.  I think that's consistent with that.


MR. SHEPHERD:  So if a cost is mostly under management control but not entirely under management control, then you would say that a Z factor could apply.


MR. FISCHER:  Well, it would be subject, Mr. Shepherd, to a case-by-case analysis of --


MR. SHEPHERD:  I'm asking what your --


MR. FISCHER:  So as a generalization, potentially, it depends on the circumstance, I would say.


MR. SHEPHERD:  All right.  Thank you.


DR. KAUFMANN:  Jay, are you still on SEC 46?


MR. SHEPHERD:  No, but --


DR. KAUFMANN:  Okay.  Could we just go back to that briefly?  Just because you -- the last sentence there say that I agreed there was some merit to the company's positions.  I just want to be clear, what I said was that there's merits to the position that a lot of these factors -- a lot of these costs are -- the magnitudes of the costs are not entirely under management control, but I didn't agree with the shift from focusing on the -- right now, the current focus on events to the focus on causes, and --


MR. CASS:  Dr. Kaufmann, is there a question in this?  Is this a question, or --


DR. KAUFMANN:  I'm sorry.  I retract on that then.


MR. SHEPHERD:  No, there's no reason why Dr. Kaufmann can't clarify something that's confusing --


DR. KAUFMANN:  I don't want to give evidence, but I just do want to say that the sentence that precedes what they said I agree with mixes two criteria, and if you go to my report you can see that I don't support the switch from a focus on events to causes, but I do support the notion of the magnitude of the control, just to clarify.


MR. SHEPHERD:  The next question is SEC 30, which is -- refers to SEC 50, and I'm looking at just the O&M benchmarking, and you've listed -- in the last ten years you've listed only three O&M benchmarking studies, two done by Concentric and one done in 2001, I guess.  I don't know who by.


Are those the only three times in the last, looks like 15 years or so, that Enbridge has done -- has benchmarked its O&M costs?


MR. KANCHARLA:  That's correct, Mr. Shepherd.  To the best of our knowledge, we tried to go back and look at the benchmarking studies done, and we could find that these were the three O&M benchmarking studies that I'm aware of in the last few years.


MR. SHEPHERD:  How does your management or board of directors do top-down reasonableness checks of your O&M if you don't have any benchmarking information?  This is very unusual, right?


MR. KANCHARLA:  Benchmarking is just one tool, and I think the reasonableness of how we develop our budgets, whether it's from grassroots or a top-down direction also is taken into consideration for developing your O&M budgets.


MR. SHEPHERD:  True, true.  You have two ways of doing an O&M budget, right?  Bottom-up and top-down.  And your grassroots method allows you to look at the details and require justification all the way up the build-up, but tends to produce a budget that is higher than you are going to approve, right?


MR. KANCHARLA:  That's correct.  And also the historical view also provides management with information of the increases as well, so when -- it's not necessary that we need to benchmark always with other utilities.  That is one reference point.  But looking at the O&M in the previous years also informs, in terms of developing your O&M budgets.


MR. SHEPHERD:  Fine, thank you.


Question 31 is -- you're going to have the last panel deal with that -- the second-last panel deal with that?


MR. SMALL:  Sorry, can we just get clarification on that question as well?


MR. SHEPHERD:  Yeah, I --


MR. SMALL:  Just the way it's written.  We are proposing to give it back over five years.  Just the way it's kind of written kind of says -- so you would like a comparison if we weren't to give it back over five years and gave it back upfront.


MR. SHEPHERD:  Yeah.  Yeah, I'm trying to get the time value of money, the interest, any interest you are building in, either interest on the over-collection during the period you were over-collecting it, or interest on the payback as -- because it's deferred payback.  And if there's none, if you are saying we're paying back -- we're calculating the same amount and we're paying back the same amount, whether we're doing it immediately or over time, then that's costing the ratepayers some money, and we want to be able to calculate that.


You're not including in the 292.8 -- that amount does not include interest -- past interest for the fact that you've collected it from the ratepayers earlier, right?


MR. SMALL:  It does not include any interest amount, no.


MR. SHEPHERD:  Okay.  Have you done that calculation to see how much it would be?


MR. SMALL:  No, I have not.


MR. SHEPHERD:  Because it was collected over time, right?


MR. SMALL:  Correct.


MR. SHEPHERD:  And so you've had ratepayer -- excess ratepayer money for quite a long time, some of it, anyway.

MR. SMALL:  As a result of, I guess, switching to the constant dollar method, it would indicate that, yes, we have recovered more than we needed to.


MR. SHEPHERD:  I'm not suggesting anything nefarious.  All I'm saying is that you have had our money for a period of time, that you didn't need, it turns out.


MR. SMALL:  I agree, but it also has served to reduce the company's rate base and therefore the cost of capital that the company's recovered.


MR. SHEPHERD:  For sure.  And on the other end, you're proposing not to give it back right away, but over a period of time without interest, right?


MR. SMALL:  That's correct, but it still will -- for the amounts haven't been returned as we go through the five years, it will still be -- the residual amount will still be serving to reduce rate base.


Because -- I'm not sure if it's clear as to what our proposal is, in that we're proposing to, I guess, give back 33 million as part of reduced SRC reserves and our depreciation rates for five years, and then we're proposing to give back the residual 259 million in -- over the five years.  And our plan is to -- on a monthly basis, we will in essence debit our accumulated depreciation, and develop a rider to pay that same amount back in the same month.  So --


MR. SHEPHERD:  So your rate base is being calculated on the basis that your rate base is only being adjusted at the time that you're making the refund?


MR. SMALL:  Correct.


MR. SHEPHERD:  So then that answers the next question, which is the reason why it's not being done in the same way as the PP&E account is for IFRS, because you're not adjusting the rate base on day one?


MR. SMALL:  Correct.  I mean, I can't really speak to -- what is done in the electric PP&E account.  I haven't had a chance to fully -- or to look at that at all.  I can't speak to that, but we're definitely not increasing rate base on day one.  It's a monthly adjustment over the five-year term.


MR. SHEPHERD:  I understand.


MR. SMALL:  For the original question, it would be treat the entire give-back kind of on day one in 2014, would be --


MR. SHEPHERD:  What's the impact?


MR. SMALL:  Okay.  Thank you.


MR. SHEPHERD:  Assuming the impact would be you would adjust rate base immediately and we would get a cheque, but then your revenue requirement related to capital would go up for each of the five years of the plan, because you would have that much more rate base all throughout?


MR. SMALL:  That's correct.


MR. SHEPHERD:  So this is just about getting the number, what that would imply.


MR. SMALL:  Thank you.


MR. SHEPHERD:  Thank you.  Next is our question No. 33, and I think we may have already got the answer to this.


MR. KANCHARLA:  Yesterday Mr. Mandyam --


MR. SHEPHERD:  Yeah.  So I don't need to pursue that.


And then the next one is -- 34 is deferred to a later panel, and 35.  And then the next one, 36, is also deferred to a later panel.


So the next question to answer right now is 37, and I think you've answered this already.

MR. CASS:  That's right.  That was addressed by Andrew.


MR. SHEPHERD:  Then 38, I don't understand why the volumes and O&M forecast panel is dealing with this question of why you don't have copies of grassroots budgets.


MR. KANCHARLA:  I'll try to answer here.  Mr. Shepherd, I think what we're referring to here is the original question asked for the previous years' grassroots budget.


Again, what we have in our system is the final version of the budgets.  That was provided as well.  We tried to see, because of the change in personnel and the various versions that individual people have in their own spreadsheets, we were unable to get the grassroots -- the budgets of the previous years.


MR. SHEPHERD:  So here's what I'm trying to understand, and this is the second part of that question -- which is the reason why I thought it was for this panel -- is you're proposal says:  We built in productivity to our budgets, to our O&M budget, now dealing just with O&M.  We built productivity into those budgets.


And so we're trying to understand how is this different from what you normally do every year, where you get a grassroots budget, you cut it back, you say:  No, you have to be more efficient.  And -- because now you're in an IRM and you would expect it to be different, and I don't understand how it's different.


MR. KANCHARLA:  The difference is the -- what we provide from more of a top-down direction is we provided inflation as a reference point for developing the O&M for multiple years that's required for this period.  Yes, correct.  And in every year in any budget development process, we would emphasis on finding efficiencies.


Here, we were asking the various departments to build budgets looking at -- providing inflation as a reference point.


MR. SHEPHERD:  But you didn't keep your O&M budget to inflation?


MR. KANCHARLA:  That's correct, and in addition there were some cost pressures, and we have some discrete items that's listed in our O&M evidence, that made the O&M budgets higher than the inflation.


MR. QUINN:  Are you moving on to another question, Jay?


MR. SHEPHERD:  Yes, I am.
Questions by Mr. Quinn:

MR. QUINN:  I wanted to follow up, because what's been nagging me is this -- I've heard the phrase used -- "embedded productivity" that's in your numbers.


Do you have the pre-productivity adjustments numbers?  Are they anywhere on the record?  So if your budget is a hundred, it was 105 before you started; is that on the record?


MR. KANCHARLA:  In our O&M evidence, Mr. Quinn -- if it's required, I can pull it up -- we provided the first iteration O&M, where we started.  It's provided.


MR. QUINN:  That's what I wanted to look up.  Thank you.
Questions by Mr. Shepherd:

MR. SHEPHERD:  As far as you know, Mr. Kancharla, is the reduction from grassroots to final budget for these test years similar to previous years?


MR. KANCHARLA:  Where the difference lies is -- again, in the spirit of the incentive regulations, we were looking for productivity in this IR term compared to a normal cost of service here.  I think -- and we provided reference as an -- again, repeating myself, the inflation factor as a reference list.


MR. SHEPHERD:  Yeah.  I'm still trying to understand is it -- is the dollar impact different or the same?


MR. KANCHARLA:  Dollar impact is different.  I think in one of the interrogatories, in Board Staff 19, we provide the cost pressures that we have as a normalization for the IR term.  We provided a list of the cost pressures that we have for the IR term.


MR. SHEPHERD:  I'm still not a hundred percent clear on the answer, so let me try it a different way.


You've advised what -- the extent to which you cut back the grassroots budgets to a final budget for 2014 and after.  I'm asking you to compare that to the extent to which you cut back grassroots budgets in past years to final budgets, and asking:  Is it a similar amount?


Because you do the same thing in all years.  Have you done the same thing as you normally did this year?  Or is there a bigger cutback or a smaller cutback this year?


MR. KANCHARLA:  It's difficult to compare what's happened in the past year, but looking at the cost pressures that we have here for the IR term, I would say that there is a greater challenge for the organization to find efficiencies during this IR term for 2014 to 2018.


MR. SHEPHERD:  So that means your cutbacks are smaller this year than they have been in previous years?


MR. KANCHARLA:  I wouldn't say they're cutbacks, and again referring to Board Staff A2, Staff 19, you can look at the details here where we provide where the operating-pressure challenges are coming from.


And at this point, this is what we're saying, is that the company needs to find the productivity to make up for this cost pressures.  Like, if you look at some of the examples here, whether it's merit increase, employee benefits, or the costs from safety and integrity, some of this work needs to be undertaken during the IR term.  To undertake some of these programs we need to find productivity.  From a rate-making purposes we're not asking for these particular cost elements.  What we are suggesting here is that we will find efficiency and the risk of spending more than what your focus is to the utility.


MR. SHEPHERD:  Your number here is 16.5 million for 2014.  That's presumably how much you cut back the grassroots budget, right?


MR. KANCHARLA:  No, it differs.  Just a minute.


MR. QUINN:  I did find that reference, Jay, that --


MR. SHEPHERD:  Yes.


MR. QUINN:  It's on page 11, sorry, of D1, tab 3, schedule 1 on page 11, shows the first and second iterations of the respective budgets, and the number is slightly higher.  It's 19.5 that was -- 19.6, sorry, between first iteration and second iteration for 2014.


MR. KANCHARLA:  19.6.  Thank you, Mr. Quinn.  What's listed here is that -- I wanted to separate it out.  From a first iteration to the second iteration we reduced the budget of 19.6.  What I'm referring to here on the 16.5 million on the Staff Interrogatory 19 are the cost pressures that the company will have to incur, in the sense that they need to find further productivity to incur these costs.  These are two separate items.  19.6 is the reductions, whereas 16.5 is the cost pressure -- are the cost pressures that the organization has for the IR term.


MR. SHEPHERD:  Those numbers -- the 16.5 is included in the 19.6, right?


MR. KANCHARLA:  It would be difficult to match one on one, and some of these things we would have reduced as well.


MR. SHEPHERD:  Well, these are things that were included in the grassroots budget, merit increases, benefits, et cetera, and you said, no, we're going to cut those back, right?


MR. KANCHARLA:  What I'm suggesting is the 16.5 million that's in the staff, we might incur this cost.  We may not have cut back; for example, the employee merit increases.  What we assumed in the application is a 2 percent increase, but the actual merit increase could be higher than two-person merit increase.


What I'm saying is that we would incur that increased cost, and the increased cost is to the risk of the utility, or we need to find further efficiencies to make up for the increase in employee costs.


MR. SHEPHERD:  The conceptual part I understand.  What I'm trying to understand is how the two numbers relate to each other, because I presume that when you got a grassroots budget, each of the departments included the merit increases that they thought they would need, and the reason -- and you said, no, we're going to cap it at 2 percent, and the difference is $1.2 million.  That's where you got that number, right?


MR. KANCHARLA:  Where I'm unable to inform now is that if there isn't one-to-one relation to, because it is plausible that we were to cut down some of the programs -- for example, the merit increases, it is possible that we kept at 3 percent, but from a rate-making purposes we'll assume only 2 percent increase, and we'll find the efficiency.


MR. SHEPHERD:  I'm still having some difficulty with clarity.  And I'm sorry, it may be my density.


MR. CASS:  Jay --


MR. SHEPHERD:  Yes.


MR. CASS:  -- it was our expectation that this would go to the O&M panel anyway.  Might it be best to do it in the context of that overall panel?


MR. SHEPHERD:  Okay.  Maybe they'll have a chance to see this transcript and see how confused I am and be ready for it.


MR. QUINN:  And again, if I may, one question the O&M panel could address is, is the 16-and-a-half embedded in the column 1 first iteration, yes or no.  That could tell us.


MR. SHEPHERD:  The people who are coming to talk about the O&M evidence, are they people who are actively involved in the budget process on a year-by-year basis?


MR. KANCHARLA:  That's correct.  I'll be part of the panel as well, but at least I'll understand more details from my panel members.


MR. SHEPHERD:  Okay.  Thank you.  I believe that's all my questions.  The other ones have been answered or deferred to other panels.


MS. SEBALJ:  I don't think we've agreed on an order, but -- trying to recall who is hidden behind there.  Randy and James.

Questions by Mr. Aiken:


MR. AIKEN:  I'll go ahead.  I've only got a couple of questions left.  The first one is not one of the questions I filed, so if you could turn to the updated Exhibit A2, tab 1, schedule 1.  Mr. Shepherd took you through this this morning and yesterday, I believe.  And specifically, if you could turn to page 4, paragraph 13, where the table starts.


I just want to walk through here and make sure I understand what is fixed for the term of the plan and what will be adjusted.  So under the "details" column it talks about summing together the various cost components.  I'm going to start with the level of the operating costs.


Now, my understanding is that in this proceeding you want the Board to approve your forecasted level of operating costs with the exception of DSM customer care and pension costs through the 2018 period.


MR. KANCHARLA:  That's correct.


MR. AIKEN:  And then for each of those three is it your plan in your annual filings for 2015 through '18 that you would bring forward new forecasts or the most recent forecast for those three costs, build that into rates, and at the same time have a variance account -- variance account around them so that there is a true-up to the actual cost after the fact, or are we living with the forecasts that are in there now?


MR. SMALL:  Okay.  Sorry about that.


It's correct that for pension costs we'd be proposing to build in our latest forecast, but there would still be a variance account around it to ensure that ratepayers only pay the actual cost.  DSM, we'd be proposing to include our most recent forecast.  With any luck that would be a Board-approved DSM budget from that proceeding, but there is always the DSMVA2 to potentially track.


If there's a difference between what we are able to build into rates and what the eventual Board-approved DSM budget is, we proposed, I think, wording to the effect in our DSMVA account that if there happened to be a difference between an eventual Board-approved DSM budget and the amount we had been able to build into rates, that it could be recovered there or given back.


And finally, the customer-care CIS costs would be the costs coming out of the approved template -- I forget the proceeding number now, but the approved template that just gets updated annually for customer numbers.


MR. AIKEN:  So then just backing up to the pension costs in particular, the rates -- or the costs built into the allowed revenue for 2015 through '18 would not change from your current forecast even if you had an updated pension forecast, say, in 2016 for 2017 and '18, but it would be captured in the variance account.


MR. SMALL:  No, I apologize if I misspoke, but we would bring forward new forecasts to ensure that rates at least had our best forecast in every year, but there would be a variance account still around it.


MR. AIKEN:  Yeah, okay.  Then the next item talks about depreciation costs, and I want to expand that to the -- basically to the net fixed asset component of rate base.  So am I correct that your proposal would set that component of rate base for 2014 through 2018, and with the exception of the variance account around some of the distribution expenditures in the last two years, those numbers would be fixed, as part of this proceeding?


MR. SMALL:  Yes, that's correct.  But there's also the GTA variance account too, for --


MR. AIKEN:  Yes.  And then the remaining part of rate base, specifically the working capital allowance and the gas supply costs, those would fluctuate each year based on the volumetric forecast and the price forecast, and any changes in OM&A that would flow through the working capital; is that correct?


MR. SMALL:  That's correct.


MR. AIKEN:  But there would be no change to the working capital lead-lag study, no changes to the days?


MR. SMALL:  I'll have to take that away to confirm that.  I better not say what I thought my opinion was.


MS. SEBALJ:  TCU2.13.
UNDERTAKING NO. TCU2.13:  EGDI TO CONFIRM WHETHER working capital allowance and gas supply costs would fluctuate each year based on the volumetric forecast and the price forecast, and whether any changes in OM&A that would flow through the working capital

MR. AIKEN:  Then with respect to the taxes, the next item in the list, my understanding is that the dollar amount cannot be fixed at this time, but what you are fixing are the rates, the tax rates to be used in future years?  The actual dollar amount will change because the rate base isn't fixed at this point in time, for example?


[Witness panel confers]


MR. SMALL:  Yes, we're proposing to fix income tax rates upfront and we're proposing to fix our tax additions and deductions upfront, but because of the update to revenue at existing rates and gas costs, taxable income will change.


MR. AIKEN:  Similarly with the cost of capital, what you are proposing is that the Board approve your forecasted capital structure and debt and equity rates, but again, the dollar amount will change because your rate base will change?


MR. SMALL:  That's correct.  We're proposing to fix the ratios between the components of debt and the debt rates, but yes, because of the change in rate base due to the annual update of the gas supply plan and whatnot, and I guess the small working cash change, the total rate base could change between years.  Thank you.


MR. AIKEN:  Then finally on the heating degree day methodology that you're seeking for approval, that method -- when you say that methodology doesn't change in 2015 through 2018, my question is:  Is it the methodology which picks whether it's a 30-year average or a five-year average or the De Bever methodology or whatever?  Or are you saying that the three methods that you pick for the central, eastern and Ottawa zone, eastern zone, those calculations will be updated, but it will be the De Bever methodology for Niagara zone, for each of the next five years?


Or is that a question better for the volumetric people?


MR. SMALL:  I think that's correct, that it's a question better for the volumetric people.


MR. AIKEN:  Okay.  Then I want to turn to the questions that we had filed.


MS. SEBALJ:  I don't think we've marked those, Randy, so why don't we mark your -- it's your letter of January 13th, attaching the technical conference questions of Energy Probe Research Foundation, and it will be TC2.2.

EXHIBIT No. TC2.2:  LETTER OF JANUARY 15, ATTACHING UPDATED ENERGY PROBE TECHNICAL CONFERENCE QUESTIONS.


MR. AIKEN:  So turning to the first question there --


MR. CASS:  Sorry to interrupt, Randy.  I didn't catch entirely what you said, Kristi, but Randy's questions were updated.  Did you refer to the update?  Sorry, Randy.


MR. AIKEN:  There was an update on the 15th.  The questions didn't change.  Just relabelled them.


MS. SEBALJ:  It was the one with the numbering change.  Okay.  So let's mark the updated January 15th questions from Randy as TC2.2.  Thanks for that.


MR. AIKEN:  The first question, we've basically already answered parts A, B and D.  So in part C, I had asked for basically your calculation, but keeping the return on equity, cost of debt, and the capital structure and the cost of preferred shares at the levels approved by the Board in 2013.  And this is all in reference to SEC No. 5.


What I'm looking for here is really how much of this $342 million cumulative difference is related to the change in the capital structure and the various rates applied.


MR. FISCHER:  So, Mr. Aiken, so we're -- it's a work in progress to try to develop that schedule, so we would take that as an undertaking to provide sometime early next week.


MR. AIKEN:  That's fine.


MS. SEBALJ:  It's TCU2.14.
UNDERTAKING NO. TCU2.14:  EGDI TO EXPLAIN HOW MUCH OF THE $342-MILLION CUMULATIVE DIFFERENCE IS RELATED TO THE CHANGE IN CAPITAL STRUCTURE AND THE VARIOUS RATES APPLIED.


MR. AIKEN:  Then I understand that Energy Probe No. 2 will be responded to by way of undertaking as well?


MR. FISCHER:  That's correct.


MR. AIKEN:  So we need a number for that.


MS. SEBALJ:  TCU2.15.
UNDERTAKING NO. TCU2.15:  EGDI TO respond TO ENERGY PROBE QUESTION NO. 2.


MR. AIKEN:  Similarly for Energy Probe 3, an undertaking response for that one?


MR. COYNE:  Yes, we'll be doing that.  We now have the data we need, and we just need to do the analysis.


MS. SEBALJ:  TCU2.16.
UNDERTAKING NO. TCU2.16:  EGDI TO RESPOND TO ENERGY PROBE QUESTION NO. 3.


MR. AIKEN:  Then the other two questions I had for this panel are Questions 4 and 5, and you've provided responses to those in -- which you provided today.


MR. KANCHARLA:  That's correct.


MR. AIKEN:  So those are my questions.  Thanks.


MS. SEBALJ:  James, are you next, or is it --


MR. WIGHTMAN:  That would be fine.  Have VECC's questions been assigned an exhibit number?


MS. SEBALJ:  Yes.  They are TC1.2.
QueSTions by Mr. Wightman:

MR. WIGHTMAN:  Thank you.  Are we ready to start?  Okay.


Maybe we could just go through -- I believe you're going to respond to questions 1 to 11 orally today, and I may have very brief follow-ups to your responses that you give, but they will be very brief, if they occur.


MR. KANCHARLA:  Okay.


MR. WIGHTMAN:  So for Question 1A, can you confirm that the measurable benefits will all be in dollar terms?  Or will there be some conversion of a benefit that isn't measured in dollar terms, and you'll assign it a dollar amount?


MR. FISCHER:  Yes.  So as I described yesterday, it will be measured in dollar terms.


MR. WIGHTMAN:  And it won't be controversial.  We won't, you know --


MR. FISCHER:  No chance of that.


[Laughter]


MR. WIGHTMAN:  Okay.  For part B, you had said that exceeding the Board-approved ROE signifies that EGD has found a way to be efficient during the IR term, but I asked you, well, aren't there a number of ways you could exceed it even if your efficiency didn't improve, and could you respond to that, 1B?


MR. FISCHER:  So clearly, you know, a good example is the first-generation IR.  You know, their opportunity to exceed the allowed ROE would not necessarily just be due to us finding efficiencies.  First generation IR, some of those benefits were macroeconomic in nature, so clearly it can be a combination of both.


MR. WIGHTMAN:  Okay.  And I'll get to this later, but do I understand from what you've said yesterday and from what I read the evidence that the SEIM proposal will be based actual ROE, that little...


MR. FISCHER:  Yes, it will be based on actual ROE using the 2009 Board-approved formula.


MR. WIGHTMAN:  But it won't be normalized.  It won't be a normalized ROE.  In other words, that SEIM cap -- or up to the maximum could increase just because of colder-than-normal weather.


MR. SMALL:  No, we are proposing a normalized actual ROE to take weather out of the equation.


MR. WIGHTMAN:  Oh, I apologize.  Thank you.


And in the second question, basically when I read your evidence it sounded like you're almost saying gaming was impossible, and do you believe that no utility can game a regulator by -- for example, if we allow gaming to include forecasting higher than an expected value or, you know, lowballing customer numbers, et cetera, or, you know, not revealing productivity initiatives that you've just decided to undertake until the IRM starts, even though -- you know, this kind of stuff.  Is all of that impossible because of the regulatory compact and because of disclosure after the fact?


MR. FISCHER:  Mr. Wightman, I think that the question, the way you've posed it there, was, you know, are we aware of other utilities gaming, and the answer to that is, no, we aren't.  But having said that, you know, I think the degree of transparency that we're proposing in this customized IR plan is -- I think goes a long way to minimizing the potential for gaming.  You know, whether other utilities have that same degree of transparency or not I don't know, and I certainly can't identify any specific examples of that.


MR. WIGHTMAN:  I was just basically asking, do you believe it ever occurs or not, or it just can't occur?


MR. FISCHER:  If I could ask Ms. Frayer to -- she has more experience industry-wide than I do -- perhaps to comment.


MS. FRAYER:  And maybe the way I should start the answer is that I don't think you can say something can never not occur.  There's potential for many things to occur.  But I think that it is quite important to look back to the extent that this has come up in this technical conference, and look back and take a look.  I think it has been hinted to by Dr. Kaufmann that this is something he has observed.  I've actually gone back to the U.K. and Australia regulatory decisions since building blocks has been implemented, and there is no public document or I would say official enforcement case of this type of gaming.  And when I say "gaming" I mean, you know, intentional misinformation, basically, an intentional over-forecast in order to game the rate-making regime.


And in fact, if you look at the regulatory decisions in both jurisdictions, they have definitely shown instances where companies' actual capital spending and O&M spending exceeded the allowances that were made as part of the building blocks in the previous regulatory reset period, but they themselves concluded -- I can show you multiple reports -- that there are a number of reasons where that happens, and it's not an indication in and of itself of gaming.


MR. WIGHTMAN:  Could you provide those references on the record maybe by way of undertaking or something?


MS. FRAYER:  By way of undertaking, but one right now that I can mention for example, in Australia the Victorian regulator -- the State of Victoria's regulator, the ESC, did publish as part of its draft decision in 2005, and I think its final decision, a discussion of this issue.  And I think it's quite important, because I think -- also, the context around that is important.  That was a first-generation -- basically, a review of a first-generation plan, where even the regulator also commented on the fact that people are getting used to the plan.


I think the context for Enbridge, bringing it back to Enbridge right now, is that the regulatory compact here between the companies that have been regulated for many years and the Board have been well-established.  It's a very well-established relationship where consequences are easy to understand, parties are extremely rationale and very conservative in their interactions, and that changes the dynamic dramatically.


MR. WIGHTMAN:  When you say -- I'm glad, first, that you've provided examples, because I was going to ask you to provide examples of what gaming might be, and sort of the same things I had in mind.  And you mentioned over-forecasting -- well, if its costs -- revenues, presumably.


When Enbridge makes its forecasts, does it -- and, you know, the state of the world is not known.  Things can go up, things can go down, but presumably there can be good, medium, and bad scenarios.  And maybe there's probabilities, you say, how likely is this to happen.


Would you say that when Enbridge prepares its forecasts in this proceeding and in general it does so on an expected-value basis, that you don't assume the best, you don't assume the worst, you figure out maybe probability, weighted result or something, or does it do something else?


MS. FRAYER:  Well, I think I would like Enbridge to answer that once since you directed it.  You were looking at me, but I want to make sure that it was a Enbridge-specific question.


MR. WIGHTMAN:  Yes, it's an Enbridge-specific question.

MR. KANCHARLA:  Just to respond to the question, it's detailed in earlier conversations we had as well, how we built our budgets from a bottom-up budget process, as well as a top-down direction.  I think we ensured that our best information is provided for forecasts for whether it is O&M or capital budgets.


MR. WIGHTMAN:  Well, would that be on an expected-value basis, unbiased, in that it would be as likely to be an under-forecast as an over-forecast generally?


MR. KANCHARLA:  We have not done any studies to calculate the expected values, so it is based on the current knowledge of the forecast, and as we detail in the evidence, we provided some of the areas that -- where we have cost pressures, and then we've just taken -- it's willing to take risk if it exceeds that.


MR. WIGHTMAN:  Okay.  My last question on this, because I want to move along, is then that would you expect that your forecasts are unbiased in general, just from the way you do them?


MR. KANCHARLA:  That's correct.


MR. WIGHTMAN:  Okay.  Thank you.  And, now, before we go to question 3, I would like to ask you a question about how important in support of your proposal are your references to game theoretic analysis?  Like, I mean, if that were disregarded or somehow be filed by some intervenor or something, would it really affect your proposal?  Is it an important part of your proposal or important support for it, or is it just something you say, Oh, by the way, this supports it too?  Is it essential?


MS. FRAYER:  Perhaps if you don't mind I will take a first crack at it, and if others want to jump in with a different perspective, but it was, I think, in the London Economics response to CME 1 that we introduced discussions of game theory, and that was where it first came up.  It wasn't in the, I think original evidence.


And I think, to put it into context, it came up because I think there were discussions in the critique that Pacific Economics Group put together about ex post versus ex-ante conduct of various participants.  And we thought, or at least I personally thought and professionally thought it was very important to put it into context of how other experts and other jurisdictions do think about this, and in fact how economics thinks about this, because it isn't a single case.  We're not sitting here in this case and the companies will leave and the Board will leave and everything will be forgotten.  I hope not.


It's something that in economics has been studied extensively, and I thought it would add to the discussion, but it really came in, I think, afterwards, and, I think, in consideration of one of the interrogatories.


MR. WIGHTMASN:  So if I interrupt that and say that your proposal could stand without that sort of support, all I'm saying is:  Do I need to follow-up extensively on the responses you are going to give me here, or not?


Well, may -– sorry.  You don't know, for good reason.  Okay.  Could we go to 3, part A, then?


You say "indefinitely repeated games," and do you mean infinitely repeated, or do you mean finitely but you don't know how many times you're going to play the game?


MS. FRAYER:  I don't mean finite.  I mean that they are repeated in a cycle.  So I think in the economic literature it is referred to in that specific way.


MR. WIGHTMAN:  So there's no last game?


MS. FRAYER:  There is no last game.  That's another way to think about it.


MR. WIGHTMAN:  Okay.  I'm happy if you provide B written, but if you wish to respond to B right now, that's fine with me.  Orally.

MS. FRAYER:  I'm comfortable talking about it orally. I think this is a question of prerequisites or pre-conditions that are assumed in economic theory, in the various literature, in response to cooperative games.


Dr. Altman also did lots of studies on information, non-cooperative games, but I believe this is relating to cooperative games, and so I'll respond that way for now.


The first and most important, I guess, assumption, if you will, or condition, is that the actors or players in the characterization I've made here, the utility and the regulator, are rational.  It's a common assumption in any type of economic field.


The second assumption is that there is, as we just discussed, repeated games, and that there isn't knowledge that this is going to be our last interaction and that's it; we all go to our separate corners and live different lives.  So there is no finite number or a finite known end round.


The third typical assumption is that the consequences of non-cooperating can be anticipated and repercussions understood.  And I think in this instance, in that it is a very methodic regulatory regime, I think the utility and the regulator have a good understanding of consequences.


And the last one is really that to the extent that there is a lack of cooperation, a lack of -- in the game theory world -- defection, that there is an understanding that there will be -- and I'm going use the economic word, of course.  In this arena, it might not sound good, but punishment, or there are consequences that will be imposed.


MR. WIGHTMAN:  Okay.  I have to confess I didn't think you would -- we're using cooperative game theory, but there's also, then, a value function for different sets and subsets.  There's a grand coalition, the maximum value all parties together can get.  That's also part of it, right?  There's a --


MS. FRAYER:  There are definitely different solution spaces.


MR. WIGHTMAN:  And there are possibilities for – so it's not a non-cooperative game, where there are different -- like the prisoner's dilemma is what I was thinking of, and --


MS. FRAYER:  I believe that there is, as in the prisoner's dilemma, there is one particular equilibrium that's non-cooperative.  But from the analysis and the studies, to the extent that you do have rational players, it is much more likely to get to a cooperative outcome than a non-cooperative one.


MR. WIGHTMAN:  Okay.  Well, with that -- and I will just suggest to you that the prisoner's dilemma is an example of non-cooperative game theory, but will you agree, without going through all of it, that in the single play of prisoner's dilemma, both players' dominant strategy that is best, regardless of what the other does, is not to cooperate?  Do you agree with that?


MS. FRAYER:  I agree, but that doesn't characterization this relationship between the regulated utility and the regulator.


MR. WINN:  One more question.  And by backward induction reasoning, do you agree in the prisoner's dilemma repeated game, where there's a number of repetitions, replays, but there's a finite number and both know that you will not get cooperation as a dominant strategy ever?


MS. FRAYER:  I do agree with you that in experimental economics when there is a finite number, there has been a higher likelihood of non-cooperation.  But again here, what we're saying is an ongoing, constant relationship.


Enbridge doesn't have an idea that:  Two more rounds of IRM and that's it.  It will be free of the Board forever.


And I think that's what the finite game experiments, in my mind, resemble.


MR. WIGHTMAN:  Then very briefly with part C, I think -- I forget his name, but anyhow it had a prisoner's dilemma game played on computers, and there were a couple of tournaments and Rapoport, who is a game theoretician, he suggested a tit-for-tat strategy.


Would you agree if I just said that you cooperate on the first round, but if you -- after seeing what the other party has done after that, if they cooperate, then you cooperate on the second round, but if they don't, then you don't cooperate?


So in other words, there's a punishment and -- but if –- if who you are playing against was good in the first round, you're good in the second round, and you stay good until they don't cooperate.  Is that -- would that be a rough explanation of what a tit-for-tat strategy is?


MS. FRAYER:  I agree that it's a question of cooperation versus defection, and it is the one strategy of many in that field.


MR. WIGHTMAN:  Did it not win against a bunch other strategies in -- actually empirically, when they ran the tournaments?


MS. FRAYER:  I think that the way that the tournaments were set up with experimental economics was quite important to the situation that resulted, and that's actually a big consideration of experimental economics versus theoretical.


MR. WIGHTMAN:  Thank you.  Very briefly, then, would you agree that a trigger strategy is such that I'll cooperate until the first time that you don't cooperate, and then forever afterwards I will not cooperate or I will defect?  Is that what a trigger strategy means?

MS. FRAYER:  Well, it's a type of -- I think it's -– the way I think about it, it's a broader form.  The tit-for-tat is an example of a trigger strategy.


And again, I don't feel that the theoretical situations really fit this type of space that we're talking about in the regulatory compact.


MR. WIGHTMAN:  Fair enough.  Part E, now, the reason -- and you mentioned, and one thing you learn if you take a game theory course right away is, you know, the definition, and first you have to identify the players.


MS. FRAYER:  Yes.


MR. WIGHTMAN:  And the strategy sets, the action sets and the pay-off matrices, whatever, but the players.


Now, I realize -- and you mentioned principal agent theory and all this stuff in the response from London Economics, but would you not agree that if you're trying to model the regulation, that maybe there should be three players?  That there's intervenors, who don't share always the utility's point of view; the regulator, who doesn't always share the intervenors' or the utility's point of view; and the utility, who does its best, but -– you know.


So why wouldn't you model that as a three-person game, in which case your principal agent theory might not mean so much?


MS. FRAYER:  Well, I did think about the question.  In my original response, I wanted to bring the game theory down to a level where I was hoping the widest audience could appreciate it.


As you probably understand, the two-player example is the most basic example for people to understand in this room.  The two players that have the most at stake are the regulator and the regulated utility.


But I do agree that you could define the space as having N players.  In fact, you could even define each one of the intervenors having its own particular position and a particular view that doesn't necessarily align.


Again, going back to the economic theory -- and I apologize for talking so much about this particular segment, but a lot of the empirical work that has been done on multi-player games, where you have potentially significant number of players, talks to the fact that you do -- and can get cooperative outcomes, and one of the biggest, I think, drivers of cooperative outcomes is to ensure that there is not anonymity, meaning that the players all know each other.  They're all taking responsibility for what they say, and that condition of no anonymity creates a situation where you get more and more cooperation.  And I think it does kind of define this room very well.  Nobody is wearing a mask.  We all know each other.  We all know each other's positions very well.


MR. WIGHTMAN:  Okay.  One thing that might be a little bit different from the theory in the regulatory -- and I would just argue, if I were going to argue, that intervenors' really interest don't align exactly with the regulator or the utility, and there's usually a transfer of funds or wealth from one to another after these.


But if the Board -- how could the Board find out if somebody had gamed or not?  I believe the panel talked -- or members of the panel talked yesterday about how it's really hard to separate what was due to productivity, what was due to that, did we earn more because of this.


So if you -- even after the fact, wouldn't it -- I mean, to punish -- if the Board wanted to punish you for gaming, aside from maybe legal problems in doing that, saying, You were bad last time, so we're going to punish you for five more years, but how would they know?  How would they know?  Because that's important in repeated games.  You have to kind of know what happened at the previous stage before you go to the next.  So how would they know?


MS. FRAYER:  Well, again, in my experience at least from following regulatory decision-making in other jurisdictions, that had been challenged with these questions.  There is a -- there's a lot of information and a lot of understanding of drivers.  I think establishing down to the dollar what causes what is difficult.


But I think there is a -- and you'll see it in the decisions that Ofgen has put forward that the Australian energy regulators at the state level and then the national regulator has put forward with respect to the two examples on building blocks that I've been talking to, there is an understanding of the variety of drivers, significant information, and significant analysis, and I understand that Enbridge will be filing annual reports that talk to those, not just qualitatively, but quantitatively and numerically.  I think those will be a source of information to make those adjustments down the road.


MR. WIGHTMAN:  Okay.  If you were a regulator and you said, I don't think there's been any gaming, but I'd just like to see if there is evidence, because I don't just want to assume there is never any malfeasance, what kind of information would you look at, and what would you look for if you were trying to find gaming, if you were the regulator?


MS. FRAYER:  I would look for explanations for the outcomes.  I would want to understand, to the extent that this was the allowed revenues over the last cycle and you spent more, why did you spend more?  To the extent that these were the allowed revenues and you spent less, why was it that you spent less?  Was it because you deferred some projects?  Was it because volume growth was not as high as you anticipated?  Was it because you achieved efficiency gains?  I think it's a question of getting down into understanding the drivers.


MR. WIGHTMAN:  Okay.  So you would look at how good you thought the variance explanations were.


MS. FRAYER:  Yes.


MR. WIGHTMAN:  Okay.  Just before we do 4, I would like to get just a definition of what "risk-neutral" is.  And I'll propose one to you, just an example.  Suppose Enbridge has an opportunity, but it doesn't know if it's -- it can only go two ways, good or bad, an investment one.  And there's a risk to it.  You don't know.  There's 50 percent chance that your increased profit from this activity you are considering is a million dollars, 50 percent chance of that, but there's a 50 percent chance that it will be zero, that you'll just cover the cost, no return.


In that case would you stay the expected value of that project is 500,000?  So 50 percent chance of a million, 50 percent chance of zero.  The expected value of that is 500,000?


MS. FRAYER:  I think that could be an answer, but it depends also on other aspects of the decision, I guess.  You're equating, I think, risk-neutrality with expected value.


MR. WIGHTMAN:  Well, I'll put to you that in economics the definition of risk-neutrality is someone whom the utility -- the expected value is the expected utility.  A risk-neutral person only looks at expected value.  A risk-averse person says, No, I would rather have 500,000 for sure rather than zero with probability 50 percent and a million with 50 percent, and a risk-loving person will say, I'll take -- you know, I would rather do the gamble.  You'd better give me more than the expected value.  Do you agree with those definitions?


MS. FRAYER:  I agree -- I could agree with them from a -- again, from an economic perspective, but I think you're taking the risk-neutral from a segment of my report where it was referenced as part of a U.K. document, and I think the risk-neutral that they were talking in that document isn't quite the same as the purest economist would do.


They were looking at it from the perspective of operating decisions of a utility in a regulatory context with obligations to consumers, so -- and I can provide the more detailed reference, but I think the context there was that for potential management there is one set of risks, for example, under anticipating cap-ex and then having to fund that, versus under-funding it and putting services at risk.


So the risk-neutrality dimension there was much more in the context of the provider obligations that the utility has to customers and the kind of multi-dimensional regulatory world that they live in.  So it was a little bit more -- it wasn't like a purist economics approach.


MR. WIGHTMAN:  Okay.  Thanks.  Maybe we can move ahead then, I think, to 5B, and it just -- and, you know, this is the rationale for your SEIM proposal, that, you know, you don't want to reduce the incentive to undertake productivity initiatives near the latter years of the IRM or PBR or whatever.


And, now, is this -- and this is probably a question for Enbridge, but have there ever been any projects when you've been under IRM or PBR or OM&A-targeted PBR or whatever where this has actually come up and somebody said, It makes no sense to do this now.  We'll incur the whole cost now.  We'll only get a little bit of benefit.  It will be rebased.  Has that happened?  Can you point -- or is it just in the back of your mind kind of thing or -- or it could come up?


MR. FISCHER:  No, we're not aware of any examples of that at all, but we could --


MR. WIGHTMAN:  But it could happen, it could happen, without the SEIM proposal or something that blunts the sort of disincentive.


MR. FISCHER:  Specifically what could happen?


MR. WIGHTMAN:  Well, isn't the rationale for your SEIM proposal that in the latter years of a PBR term or an IRM term you have a very diminished incentive to undertake productivity enhancements, because you will only benefit from them for a year or two, and then you'll be rebased.  Maybe I've got it wrong, but I thought that was the rationale.


MR. FISCHER:  No, I'd agree with that.


MR. WIGHTMAN:  Yeah.  But -- so it might happen, but you can't -- it hasn't happened in the past, to your knowledge.


MR. FISCHER:  No.


MR. WIGHTMAN:  Okay.  No, that's fair enough.  Thank you.


Then for the sixth question:  Can you confirm that in each of the 13 years -- it's a reference to Staff A1, Staff 4, page 2 of 2 -- the pre-earnings sharing, normalized ROE exceeded the Board-approved ROE in each year?


MR. SMALL:  Yes, confirmed.  But again, that's -- this doesn't reflect our recent accounting error, so the results potentially could change.


MR. WIGHTMAN:  Yeah.  And I think you've already said that it doesn't necessarily mean you found efficiencies in all those years.


MR. SMALL:  Yeah, I would say it could be one contributor, not --


MR. WIGHTMAN:  Yeah.  Okay.  And then even -- just jumping ahead to C, 6 part C, if you look at actual ROE, take the weather out of it, in ten out of 13 years you exceeded Board-approved ROE.


MR. SMALL:  Confirmed, with the same caveat.


MR. WIGHTMAN:  Yes, sorry, I should have added that myself.


Now, I believe on Question 7, which refers to A1.SEC Interrogatory 7, and it's the first graph, I believe you've given -- this is historical and forecast capital spending 1994 to 2016, that you gave Mr. Shepherd an undertaking to provide the data behind that graph; is that correct?


MR. KANCHARLA:  That's correct.


MR. WIGHTMAN:  Okay.  Can you confirm what I asked you in part B?


MR. KANCHARLA:  Even part A, probably.  I just wanted to provide a quick explanation before you look at the data.  Here, we are to confirm a (inaudible) trend and capital expenditure.  I just wanted to mention that during the period 1994 to '98, we had water heater rentals in the rate base as well.  So this is -- you're going pre-unbundling, so we'll provide the data, what's provided here.


MR. WIGHTMAN:  Oh.  Did that affect the capital spending that --


MR. KANCHARLA:  In the period 1994 to '98.


MR. WIGHTMAN:  Oh, okay.  Got you.  Thank you.  Excellent.  Can you confirm part B, then, what you are asked in part B?


MR. KANCHARLA:  For the period, we can confirm that customer numbers have increased and volume throughputs have also increased, but the volume throughputs have been offset by the declining average use during that period.


MR. WIGHTMAN:  Just one thing on that.  Would you agree that if you had a price cap and you had an adjustment under a price cap, what looked like a price cap, but you had an adjustment for declining average use, would that convert a price cap into a revenue cap, in your view?


MR. KANCHARLA:  Sorry, repeat that question.


MR. WIGHTMAN:  You have a price cap.  You know, you adjust the rates by I-minus-X, but then where average use is declining, you make a further adjustment to those rate classes where average use is declining, to compensate for the lower volumes.


Would you agree that that makes -- for those rate classes, basically they are essentially subject to a revenue cap?


[Witness panel confers]


MR. KANCHARLA:  We're just discussing here.


It depends on the customer numbers as well, and the price cap would to some extent look at the impact of the changes in the customer adds.


So I will not be able to confirm that.

MR. WIGHTMAN:  That's okay.  I just wanted your opinion on it anyhow.


Okay.  With respect to Question 8, can you confirm that if you increase all inputs by 5 percent and output increases by less than 5 percent, that that's negative productivity?


MR. COYNE:  Yes, it is.


MR. WIGHTMAN:  Okay.  Thank you.  Question 9 asks about those merit increases that -- these were -- I think they're cost pressures you were going to handle, but I'm just curious to find out why those amounts are expected to double from -- more than double in two years, from 1.2 million to 2.5 million.


The reference is Staff 19A, sorry.


MR. KANCHARLA:  I think why you see it as a doubling of the merit increases, it is the cumulative impact.  What we have done to show the merit increase amounts is we assumed 3 percent increase for the periods 2014, '16, taking a base amount and escalating.  And then we looked at 2 percent for the years, and looked at the difference.


So why you're seeing close to doubling in the later years, it is the cumulative impact of 3 percent from '14 to '15 to '16.


MR. WIGHTMAN:  Thank you for that.


I think we can skip to No. VECC 10, and that's Staff 20B, page 1, and it's where you say:

"EGD has no plans to substitute capital for labour during the term of its customized IR plan."


Now, if you did have plans, what ways could you do that if you were planning to?  I'm just wondering if it's -- doesn't it at some point get to be a kind of an L-shaped, fixed proportions kind of thing?  You need -- or could you actually substitute, meaningfully, capital for labour where you are now?  And how?


MR. KANCHARLA:  Probably the examples we can think about at this stage -- and I'll try to respond -- is the automated meter reading for gas utilities could be one example here.


MR. WIGHTMAN:  Are there any others?  Because that, as a matter of fact, is the only one I could think of.


MR. KANCHARLA:  I cannot think of it at this moment.


MR. WIGHTMAN:  So may I presume from this that you expect that your FTEs over the PBR period, while they might decline a bit due to efficiencies, there wouldn't be a significant drop due to outsourcing or whatever?  Is that a reasonable expectation?


MR. KANCHARLA:  What we proposed in our application in terms of FTEs, when we say we need to keep our FTEs flat, is more from ratemaking purposes.  We want to ensure that we will find efficiencies.


So it is possible that a particular program could involve hiring more people, but from ratemaking purposes, we will need to manage that, increases in our FTEs, within our own envelope, our capital.


MR. WIGHTMAN:  On the other side, you're saying you don't expect to see decreases in FTEs, any significant way.  And this is all right.  It's -- I'm just trying to --


MR. KANCHARLA:  That's correct.  And I think the FTE proposition, to keep it flat, is more from ratemaking purposes, and it could be --


MR. WIGHTMAN:  So on rebasing, the number might be a little bit more if you managed and hired more?  Might be about the same or slightly less, but it wouldn't be radically lower or significantly lower?


MR. KANCHARLA:  That's right.


MR. WIGHTMAN:  Okay.  And I think that you are -- that might be the last question that this -- no, 11 you've already answered.  You answered that yesterday, orally.  And I think that's all, then, that I have for this panel.  Thank you.


MS. SEBALJ:  I do think there was an undertaking provided by LEI to provide references with respect to intentional over-forecasting that I didn't mark, just because I didn't want to break the flow.


So that's related to your VECC No. 2.  Does that make sense?  So it's TCU2.17.

UNDERTAKING No. TCU2.17:  LEI TO PROVIDE REFERENCES WITH RESPECT TO INTENTIONAL OVER-FORECASTING

MS. SEBALJ:  No?  Nothing?


MR. SHEPHERD:  No, I don't have anything at this time.  Thanks.


MS. SEBALJ:  Mr. Brett?
Questions by Mr. Brett:

MR. BRETT:  Yes, I do have some questions.


My questions will start with the SEIM program, so you should turn up SEIM.  You should turn you up A2, tab 11, schedule 3.


And I'll -- on that first page, page 1 of 6 of your evidence, you talk about when a project is being implemented, and you say that -- in the footnote there:

"Throughout this proposal, the term 'implemented' is intended to mean that the project investment has been materially spent and any project work complete or materially underway."


And in the -- just above that in this paragraph 3, the last sentence, you say:

"The SEIM will directly incent the company to find further opportunities for projects that result in sustainable efficiencies by applying an incentive reward to the identification and successful implementation of these projects, with forecast benefits that extend beyond the term."


My first question is:  Are you -- when do you propose to actually --


MR. FISCHER:  Mr. Brett, which page were you on?  We weren't quite --


MR. BRETT:  I'm sorry, I'm on your evidence --


MR. FISCHER:  Yes.


MR. BRETT:  Exhibit A2, tab 11, schedule 3.


MR. FISCHER:  Yes.


MR. BRETT:  You got it?


MR. FISCHER:  Yes.  Page...


MR. BRETT:  1.


MR. FISCHER:  Okay.


MR. BRETT:  I'm sorry, I thought you were all there.


The question really is this:  When are you anticipating that the SEIM grant will be paid?  Is it going to be paid once you have confirmed that you have savings by measurement of the savings, or is it going to be confirmed at some -- is it going to be paid at some point earlier than that?  In other words, are you going to have some kind of an audit or a confirmation that the savings that you proposed in the SEIM project are actually realized before you pay?

[Witness panel confers]


MR. FISCHER:  So Mr. Brett, some of our thinking here is that perhaps you might be referencing back to the original SEIM proposal, and, you know, the --


MR. BRETT:  I'm looking at the evidence here.


MR. FISCHER:  Yes, so the updated SEIM proposal, the termination of the award as I went through yesterday is determined on looking at actual versus allowed ROE over the average allowed and actual ROE over the IR term, and then that gets quantified into an award amount.


MR. BRETT:  Well, let me understand that a little bit.  Are you saying then that -- and I, you know, I just looked at your proposal yesterday.  I didn't have time to analyze it very thoroughly.  I listened to your explanation.  I understood about 10 percent of it.


But let me just -- let me ask you, though, are you saying that there is -- in calculating the amount of the SEIM payments, you're not having regard at all to the actual savings created by the projects that you propose to put forward?  In other words, you're not having regard to either the actual savings or the forecast savings that will result from the individual specific projects?  I have to understand that.  I don't -- that's a prior question to the sort of analysis you gave yesterday.


MR. FISCHER:  Right.  So our updated SEIM proposal, we have an element that we've added to it that is an element that would be added to, like, an ECM approach that is adopted in Alberta, where we're basically testing whether the award is less than the amount of sustainable efficiencies or productivity that we've been able to, you know, find during the IR term.


So when I went through it yesterday, that first test was looking at determining the NPV of identified efficiency initiatives and ensuring that the NPV of all of those initiatives -- and those initiatives, by the nature of the sustainable nature, they extend beyond the end of the IR term, so the NPV of that has to be in excess of the award.


MR. BRETT:  Now I think we're starting to get moving in the direction I want to pursue, but in -- and I understand the NPV part of the analysis, but in determining the cash flows of each of the projects -- and you have to do that before you can have an NPV or a project or for a collection of projects, right?  In determining those cash flows, cash out and cash in -- in other words, the investment that you make and the return that you get, the cash return that you get over however many years you think that that is going to take place -- you need to have -- I assume you need to measure those cash in-flows, or you're simply assuming that your forecast is going to be correct.


Now, my question to you really is, at any point in this process do those cash in-flows get measured so that someone could say, looking at this, Oh, yes, we understand.  He did this.  He proposed to do this.  He proposed to move his department X from an owned space to a rented space, and an example that you used, and the savings each year are X, and we can determine that, and here's the back-up for that in case the Board wants to look at that.  Is that going to be done for each project?


MR. FISCHER:  So our proposal would be that we would only be reporting on productivity or efficiency initiatives and the resulting benefit during the IR term, but no beyond.


MR. BRETT:  Yeah, that's fair enough.  But, for example, if you look at page 3 of your proposal, A2, tab 11, schedule 3 page 3, you say -- and this is paragraph 10:

"The application for the SEIM payment will be made in conjunction with the ESM application."


So I think we're -- everybody -- I think we understand that, or at least I understand that:

"The SEIM request will include details for each of the projects that EDG proposes should qualify."


So as I understand that, you are going to, in each of the ESM -- and let me then just flip down to the bottom of that paragraph:

"Details will include such information as the purpose of each project, a description of how multi-year benefits accrue as a result of the project, information on how the project costs were determined, and the details and assumptions used to estimate long-term multi-year benefits."


MS. SEBALJ:  Can I just -- sorry, I don't think that you're reading from the updated evidence.  I think that's paragraph 10 of the previous version.


MR. BRETT:  Well, I'm reading from the original evidence.


MS. SEBALJ:  Yeah, that evidence has been updated.


MR. BRETT:  In the sheet that he put out yesterday?


MS. SEBALJ:  No, no, no, before the holidays there was an update to this evidence, and so we're not singing from the same song sheet at the moment.  And my understanding -- well, I'll let Fred speak, because my understanding is that this replaces that evidence to the extent that that evidence replaced the old evidence, so...


MR. CASS:  That's correct, Kristi.  Tom, it's on the screen in front of you.  If you see the blue part, "updated 2013 December 11th", that's the --


MR. BRETT:  All right.  Well, just a second.  Hang on here.  So you're saying this paragraph that I read and this description of a process no longer applies?  Just a second.  Thanks very much.  Let me just look at this revised piece.


All right.  Well, let me just put it this way to you.  I listened to you yesterday, and I guess -- let me put it -- let me start again.

Your SEIM program, such as it is, you are going to have -- you're going to have a program, as I understand it, whether you -- however you measure the benefit, and however you -- whatever construct ultimately you use, you're going to -- if we look at the terms of the activity that you are going to do, you are going to have a series of projects or a series of activities that make up this SEIM program, I take it.  Is that correct, first of all?  That's a fairly...


MR. FISCHER:  So during the IR term we will be doing the best that we can, in terms of identifying and putting in place new efficiency initiatives, so we're clearly incented to do that with this SEIM proposal.   So we'll be actively pursuing that --


MR. BRETT:  Yes, I understand that's sort of the top-down view of it.  Now, when do you -- will you be coming to the Board at any time, either at the ESM point or any other point, or do we have in the evidence in this case the initial set of activities that you are proposing as SEIM activities?  Is there anywhere in the evidence here a list of what you've determined so far will be your initial SEIM projects under your IRM program, or not?

MR. KANCHARLA:  In the updated evidence in Exhibit A2, tab 11, schedule 3, page 9, we provide as part of a step 2 what -- the information that will be used for the SEIM reward.  And to your question, on an annual basis we've planned to file the productivity initiatives report, and the details of the projects with the benefits that accrue from the projects will be provided in that productivity initiatives report.

MR. BRETT:  Is that productivity initiatives report, is that meant to include just the projects that are part of the SEIM initiative?  Or does it include other productivity initiatives?  And can you distinguish between the two for me, if the answer is it includes two different types of productivity initiatives?

Do you understand the –- am I clear in my question?

MR. KANCHARLA:  Yeah.  I'll try.  If I'm unable to answer, you can ask another question.

There is one productivity initiatives report.

MR. BRETT:  I understand that.

MR. KANCHARLA:  Just to clarify what we have updated, our SEIM calculation, the SEIM reward is calculated from the basis -- on the basis of the ROE, what's achieved compared to the allowed ROE.  Where we are using this productivity initiatives report is essentially a criteria whether the utility deserves that report (sic) or not.

MR. BRETT:  Sorry, whether?

MR. KANCHARLA:  The utility deserves the SEIM reward.

So these productivity initiatives, there's only one productivity initiatives report.  We look at all the initiatives, calculated the NPV of that productivity initiatives included in the IR term report, and as a check, we'll ensure that the benefits are greater than the reward that is calculated.  Than the utility is eligible.

MR. BRETT:  I understand that.  Now, when do you that report, when you file that report, are you – that's an annual report; correct?

MR. KANCHARLA:  That's correct.

MR. BRETT:  And you are going file it at the time of the ESM case, right?

MR. KANCHARLA:  Yes.

MR. BRETT:  When you file that report, are you going to lay out in that report what the SEIM initiatives were that you undertook, the nature of them?

MR. KANCHARLA:  The SEIM calculation will be done only once at the end of the term.  What the productivity initiatives report will have is a list of productivity initiatives with the detailed information of those particular initiatives.

MR. BRETT:  So the answer is, yes, it will have a list of initiatives and some detailed information on what those initiatives are, and those would be the ones that you plan to -- I take it those are the ones that you would plan to implement in the succeeding year, for example?

MR. KANCHARLA:  That's correct.

MR. BRETT:  Because you're going year by year.

So for 2014, as an example, you don't intend to start implementing any SEIM initiatives before that; is that the idea?

In other words, you don't have any now that you're including; your first ones will be subsequent to the ESM case?

MR. KANCHARLA:  That's correct, yes.

I just want to clarify there's nothing like a SEIM initiative.  There are productivity initiatives, and all these productivity initiatives listed in the productivity initiatives report on an annual basis will be used for a SEIM calculation at the end of the IR term.

MR. BRETT:  All right.  So in other words, all of them are potentially eligible for SEIM treatment; is that what you're saying?

MR. KANCHARLA:  That's correct.

MR. BRETT:  But you -- okay.  So we get this list of productivity initiatives in April, and a description of them, and -- what -- a forecast at that time of -- do you put a forecast in at that time of what the likely cash flows will be?  Or does that financial analysis that we touched on yesterday, the NPV, the various steps, does none that have happen until year 5?

In other words, how much do we know -- in the ESM in April, how much will we get on what the -- on the nature of the initiatives you're contemplating and the likely returns of those initiatives?  Will the Board have a sense of that, and will the Board have a chance to approve that in April?  Will that be an issue in the proceeding in April?

I'm sorry I've added –- it's really one question.  You know what I'm getting at.  It's what --


MR. KANCHARLA:  That's correct.  And I can answer you that on an annual basis, what we file, actually, we provided in appendix 1, Exhibit A2, tab 11, schedule 2, page 10.

What the report will have is the initiative name, with the cost and the benefits that the initiatives will provide.

MR. BRETT:  Yes, I saw that earlier.  So that's helpful.  So that will be for -- you'll that have kind of a table for each of the proposed initiatives?

MR. KANCHARLA:  That's correct.

MR. BRETT:  In the ESM case?  And then at the end of the five years, you'll have a -- you'll do your -– well, just let me stick with the ESM case.

So we'll be able to look at that list of proposed productivity initiatives and we'll be able to ask questions about it and -- questions of clarification and the like.

Do you want to have a chat?  Why don't you wait until I finish, so you can concentrate on my question?  You want to have -- you want to have a -- the Board effectively is going to have to approve that set of initiatives, is it?  As part of the ESM case?  Or not?

MR. KANCHARLA:  We'll not be seeking any approval.

MR. BRETT:  You're not seeking any approval?

MR. KANCHARLA:  On the initiatives.

MR. BRETT:  So what -- the purpose of providing the initiatives, then, is what?  To give the Board and give intervenors a chance to ask questions and clarify and make sure everybody understands the scope of it?  Is that the idea?

Or you're not -- I take it you're contemplating some sort of an information process there.

MR. KANCHARLA:  That's correct.  It is more of an information exchange.

MR. BRETT:  You're not asking for Board approval for the initiatives at that stage?

MR. KANCHARLA:  That's correct.

MR. BRETT:  Well, that's helpful.  Now, then, the --


MS. SEBALJ:  Can I just ask, Tom -– sorry.  Unfortunately this is -- you're being interrupted twice, but it's three o'clock and the court reporter and probably the witnesses need a break.  How much longer are you going to be?

MR. BRETT:  Let's take a break now.  I have a good hour -- half on hour of questions left, so...

MS. SEBALJ:  So 3:20?  Is that enough time?

MR. BRETT:  That's fine by me.

MS. SEBALJ:  Thanks.

--- Recess taken at 3:05 p.m.

--- On resuming at 3:22 p.m.

MS. SEBALJ:  All right.  The court reporter's here, the witnesses are here, Tom's here, and Enbridge's counsel is here, so let's start up again.


MR. BRETT:  Okay.  I have looked at the revised evidence, and that was quite helpful.  I would like you to turn up page 9 of 14 of the blue pages, A2, 11, schedule 3.  And I notice paragraph 1 there.  This is really for the Enbridge officers, this question.


What you say in effect in this paragraph 1 is that the information that you need to calculate the NPV for the productivity initiatives is going to be part of the productivity initiatives report, right?


MR. KANCHARLA:  That's correct.


MR. BRETT:  And what you -- you go on to say that the -- within those reports EGD will provide details of the projects, a description of how multi-year benefits accrue as a result of the projects, information about how the project costs were determined, and the details and assumptions used to estimate the long-term multi-year benefits anticipated from the project.


So I just ask you to confirm that the -- when you are looking at the NPV, determining the NPV, you're not going to be using actual measured savings, you're going to be using forecast savings from these various measures, correct?  I just want a clear answer to that.  That's --


MR. KANCHARLA:  That's correct.  Some would be forecast, but some could be actual realized benefits if those benefits occurred in the current or the past years.


MR. BRETT:  I'm sorry, yes, all right, but when you -- in your list -- in your productivity initiatives report you're going to have a series of initiatives, and you're going to have a forecast, as I understand it, of the anticipated savings, either real savings or avoided cost savings, from those initiatives, right?  You're going to have a forecast of numbers.


MR. KANCHARLA:  That's correct.


MR. BRETT:  And when you come at the end of the day -- so in any event, at that time people can see those, the Board can look at it, and they can -- people can kind of get some sense of what it is you are doing and how -- what kind of returns you are getting for the capital expenditures involved or the other proposals you are making, right?


MR. KANCHARLA:  That's correct.


MR. BRETT:  And then at the end of the day, at the end of the five-year period, you're going to calculate this -- the amount of this SEIM reward, which could be payable, and in doing that you're going to be using those forecast numbers, correct?


MR. KANCHARLA:  That's correct.


MR. BRETT:  At no time are you actually going to be using -- I just want to confirm -- and this is not -- don't take this being pejorative.  I just want to understand it.  At no time are you going to actually measure those savings.  You're going to use what you forecast to be the savings from those various initiatives.


MR. KANCHARLA:  That's correct.


MR. BRETT:  All right.  Now, the -- and I think I had this right.  I think you've already told me this.  But the productivity initiative report is a report that includes all these various proposed activities or initiatives that you will undertake to improve productivity in the next period of time, and will all of those initiatives or activities that appear in that report, will they be potentially eligible for SEIM if the various tests are met, or are there some measures -- and I asked this question in a different way earlier, but I didn't ask it very precisely, and I apologize for that.


The productivity initiatives that we're speaking of that are the subject of that report, they are the selfsame -- they are the same initiatives that could be eligible for SEIM, correct?  It's one and the same thing, in other words.


MR. KANCHARLA:  That's correct, but in a productivity initiatives reports they could be some projects that are increasing, let's say customer satisfaction, right?  If it's not quantifiable from a dollar perspective, then they will not be included in the SEIM calculation.


MR. BRETT:  I understand.  So they will be two types of productivity initiative, those that could become eligible for SEIM because they have quantifiable benefits, and those that may be, in your view, legitimate productivity initiatives but will not necessarily result in any particular cost saving or avoided cost.


MR. KANCHARLA:  That's correct.


MR. BRETT:  Okay.  Now then, if I can just -- now, at one point you made a -- okay.  I think -- let's -- let me move on a little bit here.


Okay.  Now, in your -- I want to ask you a question about your capital projects, and in particular your proposed new variance accounts.  In your revised evidence, your revised overview evidence, if you like, A2, tab 1, you discuss a change, going from a three-year to essentially a five-year program, if I can use that as a fractured sort of shorthand.  I think you know what I mean.


But in addition you say, We will do this, but we also want to open up two new deferral accounts, one for replacement -- one for replacement mains variance account and one for relocation mains variance account, and these are described in your updated evidence, and they are described briefly, but what I really want to find out here is this, if you can help me.


You have a set of proposed forecast capital expenditures going out over the five years.  You have a history of capital expenditures going back.  You have a deferral account in place now for the GTA project, correct?  The GTA project, the...


MR. SMALL:  We're proposing a GTA variance account.  It's not --


MR. BRETT:  All right.  So you're propose -- I'm sorry, my mistake.  I'm mixing up -- the hearing was so long and intense that I still have dreams about it.  So you can see I must have a fairly flaccid life.


In any event, you have -- you're proposing a deferral account for the GTA project.  You're proposing a deferral account for relocation mains.  You're proposing a deferral account for capital expenditures made necessary by activities of the city or other government agencies which require you to relocate.


As I read your numbers -- and I don't have your set of numbers in front of me, but as I read it, that's a fairly -- those three projects, if I look at the expenditures contemplated in 14, 15, 16, those consist of a very significant portion of your total capital expenditures, and so what I would like you to be able to do, if you could, is to just provide me with the -- taking your proposed capital expenditures for all -- you know, total capital expenditures for the five-year period, and then showing how much of that total capital expenditure is potentially, based on the best forecast you can make at the moment, is potentially eligible for these deferral accounts.  It ought to be fairly straightforward, I think, with -- well, I'm not going to tell you what's straightforward or not, but I would like to see how much of that proposed capital expenditure in each of the next five years you -- in respect of which you've asked for protection, for deferral account protection.  Can you do that?


MR. KANCHARLA:  Just to clarify where there is a common understanding here is the variance accounts that you're asking for, the replacement mains and the relocations, are only for the years '17 and '18.


MR. BRETT:  All right.  Then can you -- I take your clarification.  With that caveat, could you provide that information for me, then?


MR. KANCHARLA:  To --


MR. BRETT:  Do you understand -- what I'm asking for is to give me a -- just give me a chart that shows your proposed capital expenditures categories, if you like, for each of the five years, and then of that total, in each of the years indicate the amount that's subject to deferral account, to your deferral account proposals.


So for example, in 2015 you have a large amount of capital expenditure proposed for the GTA project, so that would -- everything else being equal, would tend to push you toward a fairly high percentage of total 2015 capital expenditures that's eligible for deferral account treatment if you're successful in your proposal in this case.  Okay.  Is that -- am I clear?


MR. KANCHARLA:  That's correct.  And again, to get a clarification here, so we'll provide the GTA, how much it is, and the relocation mains for the two years.


The reason why we're asking for a deferral account is our challenge to forecast for years '17 and '18, but we'll provide the best of our knowledge and information.


MR. BRETT:  Okay.  All right.  Can we have a number for that?


MS. SEBALJ:  It's TCU2.18.
UNDERTAKING NO. TCU2.18:  EGDI TO PROVIDE A CHART SHOWING PROPOSED CAPITAL EXPENDITURES CATEGORIES FOR EACH OF THE YEARS, SHOWING AMOUNT SUBJECT TO PROPOSED DEFERRAL ACCOUNTS.

MR. BRETT:  Now, just a small point just to confirm something you said to, I believe, Mr. Shepherd earlier, that you're not proposing any true-ups throughout the five-year term of the IR around the issue of customer unlocks, right?  You're making a forecast and you're going to -- you stick with that forecast, whatever that -- whatever actually happens on the ground?


MR. KANCHARLA:  There's no true-up.  The customer additions is fixed for the IR term.  On an annual basis through our annual applications, we would come forward with our total customer unlocks.


MR. BRETT:  So the actual customer unlocks are going to be proposed in each of the five cases, not at the outset?


MR. KANCHARLA:  That's correct.


MR. BRETT:  So that's like a cost of service treatment, in a sense.  You're coming forward in each case and saying:  Here's what we think we can unlock next year?  One year at a time, as it were?


MR. KANCHARLA:  That's correct.


MR. SHEPHERD:  Can I just follow up on that?  Just to be clear, it's still a forecast each year, but it's a one-year forecast, right?


MR. KANCHARLA:  That's correct, Mr. Shepherd.  There's no true-up, but on annual basis we'll come with a one-year forecast.


MR. SHEPHERD:  So you have a forecast right now that's part of the initial set of rates, but you're going to change that to a more current forecast each year?


MR. KANCHARLA:  That's correct.


MR. SHEPHERD:  Thank you.


MR. BRETT:  Just on that point -- and that's helpful -- you've got a forecast in this case of the 2014 true-ups?


MR. KANCHARLA:  Let's not use the word "true-up."  It's a one-year forecast.


MR. BRETT:  Sorry, not a true-up.  You've got a forecast of unlocks for 2014 in this material?


MR. KANCHARLA:  That's correct.


MR. SHEPHERD:  And you also have 2015 through 2018 in this material?


MR. KANCHARLA:  We have a five-year forecast, but on an annual basis we would come and provide more current information.


MR. SHEPHERD:  So right now you're forecasting about a 1.7 percent increase in customer numbers each year, but that's essentially a placeholder because it may well be higher or lower?  Your past history shows a higher number and it may be similar to your past history?


MR. KANCHARLA:  That's correct.


MR. SHEPHERD:  Thank you.


MR. BRETT:  Thank you.


Now, this is another small point, but in your -- I don't know whether -- what kind of institutional memory you three folks have, but do you recall, when you were doing under cost of service, did you typically -- when you were giving the so-called central direction -- I'm talking about the budgetary process here.  And I remember we went through many, many cases on this over the years, where the central budgetary agency put some guidelines out for the departments and the departments responded.


Did that guideline for O&M costs typically -- was it typically inflation, proposed -- test year forecast inflation, do you recall?


MR. KANCHARLA:  Going by memory, in a cost of service application -- to your question -- it would be based on the business needs and requirements for that particular test year.  That's what we would request.


And always the organization would look for -- to ask for efficiencies.


MR. BRETT:  You would have needs.  And I guess a lot of the needs -- I mean, I haven't -- I'm just speaking at a fairly high level here.  A lot of the needs would be continuations of needs that you had in the previous year, of course, expansions or whatever.  In volumetric terms, if you like, volume of activity.


But then you also have a price factor to consider, because the prices of these things are going up over time, usually.  Occasionally they reverse, as they have in the United States and some European countries, but they usually go up.


Now, going back into the cost of service days, would you have used the CPI or an equivalent inflation projection factor when you send the instructions to the various departments do their grassroots budgets?


MR. KANCHARLA:  Again, going with memory, like, for some of the elements of O&M are impacted by CPI inflation, whereas some -- all the elements will -- may not be necessarily increased by CPI.


MR. BRETT:  All right.  Okay.


MR. SHEPHERD:  Can I ask a follow-up on that, too?   Sorry, you woke me up.


In the past, in each year you had a budget letter which was sent out to all the departments, saying:  Here are the parameters in which you do your budgets.  Right?  You did one for this year too, and is that in the evidence?


MR. KANCHARLA:  We've not filed any evidence.  What we've communicated is the inflation related to the work that Concentric has provided us, I think that's the communication that we provided to various departments.


MR. SHEPHERD:  I'm asking:  Did you do a budget letter for the period in question, as you've done with every other year that I've ever seen, including the years you're under IRM?


MR. KANCHARLA:  Well, I'm --


MR. SHEPHERD:  Will you undertake to find out whether there's --


MR. KANCHARLA:  I'll take an undertaking.  There was communication.  I need to...


MR. SHEPHERD:  It may be filed in the evidence and I just haven't seen it.  But if it's not filed in the evidence, can you provide it, please?


MS. SEBALJ:  TCU2.19.
UNDERTAKING NO. TCU2.19:  EGDI TO PROVIDE BUDGET LETTER FOR THE PERIOD IN QUESTION, OR NOTE WHERE IT IS CITED IN THE EVIDENCE FILED.


MR. BRETT:  Sorry.  Now, in your -- I wanted to ask you about the -- your proposal, in broad terms, the proposal you put forward here and the alternatives that you may have looked at.


You're aware, of course, that under the RRR, which you've referred to on occasion here, the -- I don't know what the current acronym is, but the sort of most statement of Board policy with respect to IRM for electric utilities.  That one of the options you have there is a 1-minus-X approach, with capital modules.  Capital modules, as you will recall, are part of that document, and capital modules have a threshold amount associated with them, among other things, as you will recall.


My question to you is:  Did you consider that as an option, that kind of a program for Enbridge?


In other words, a CPI-minus-X, but using the capital module to help you overcome the problem of lumpy capital expenditures?  Did you look -- did you examine that?  And I guess perhaps –- well, let's just start with that.  Did you examine that alternative?


And I'm talking really -- I would like to get an answer from the Enbridge folks initially, before any of the paid consultants chime in.

MR. FISCHER:  So Mr. Brett, I will respond before I do turn it over to Mr. Coyne, but part of Concentric's analysis was to test whether, you know, fourth-generation IR, I minus X, with an incremental capital module type approach would work for us, so --


MR. BRETT:  Can I just interrupt for a moment?  When you say "type approach", are you just -- are you literally saying that you looked at the idea of a capital module, taking into account the threshold requirements, or are you saying that you used your -- the so-called Y factor approach?  You've been talking about a Y factor, but my understanding has been -- and maybe you can clarify this for me, Mr. Fischer -- when you say "Y factor", you don't mean the same thing as a capital module with a threshold.


MR. FISCHER:  No, I do not.


MR. BRETT:  All right.


MR. FISCHER:  They are very different things.


MR. BRETT:  All right.  That's fine.


MR. FISCHER:  So --


MR. BRETT:  I'm sorry to interrupt, but you were saying that you -- you were saying that you had asked Mr. Coyne to look specifically at, as an option, an inflation minus productivity factor with a capital module with thresholds, as you have in, let's say Toronto Hydro used?


MR. FISCHER:  So the ICM approach is -- it's clear, in terms of how it's administered.  It's a formulaic approach, so we did ask Concentric to look at how that -- what the result of that would look like.  So this is separate from an I minus X with a Y factor approach, which we talked about yesterday, so we -- you know, we -- and it's in our evidence, in fact, you know, looking at Y factors for the GTA and Ottawa major reinforcement projects --


MR. BRETT:  I saw that.  Yes, I -- if I may interrupt, I saw that, but I didn't see anywhere the threshold concept.


MR. FISCHER:  No, we didn't -- we did not analyze that on our own, so this is where we relied on Concentric, and -

MR. BRETT:  All right.  So you didn't look yourselves at a threshold -- at a CPI minus X with a threshold with a capital module equivalent to what, say, is used in the electric side today.


MR. FISCHER:  Yes, Concentric did complete that analysis, and Mr. Coyne can speak to the results of that.


MR. BRETT:  Do you wish to speak to that, Mr. Coyne?


MR. COYNE:  I would be delighted.


MR. BRETT:  All right.


MR. COYNE:  If -- it might be helpful to go to the evidence, Exhibit A2, tab 9, schedule 1, page 64.


MR. BRETT:  Okay.  I think I'll just look on the screen here.  Page 64?


MR. COYNE:  Right.


MR. BRETT:  Just hang on while I get the -- they get the page up here.  There's -- this is page --


MR. COYNE:  Is that top 64 or bottom 64?


MR. BRETT:  Top 64.


MR. COYNE:  Oh, top 64 is the page number.  Right.  Oh, it would be 60 in our -- on the bottom.  So A2, tab 9 -

MR. BRETT:  Just a second.  We don't have that yet on the...


MR. COYNE:  So it's A -- Exhibit A2, tab 9, schedule 1.


MR. BRETT:  I'm waiting for it to appear on the screen.  All right.  Just hang on a second, Mr. Coyne.


MR. COYNE:  Maybe I'll just speak to it verbally while we're waiting.


MR. BRETT:  Well, why don't you wait til it's on the screen, okay?  I would like to see what it says first, if you don't mind.  It's not that I'm trying to discourage your testimony, Mr. Coyne.  I just want to have the picture in front of me, because it tells a thousand words, as you know.


MR. COYNE:  It does.


MR. BRETT:  Okay.


MR. COYNE:  So what you can see there at the top of the page, there are two lines, one showing the -- one showing the projected capital revenue requirement for the company.  The revenue requirement associated with this capital plan is the maroon line on the stop, and the amber-coloured line on the bottom is what you would get with an ICM solution, and the math for that is on the prior page on 59.


And as noted at the bottom of the page, the difference between the two revenue streams is $88.2 million over the three-year period --


MR. BRETT:  Excuse me, Mr. Coyne, just before you go any further, when you say an ICM type solution, are you including threshold values there?


MR. COYNE:  When you say threshold values, there's a specific formula for the ICM, and we used the electricity formula.


MR. BRETT:  I understand that, but there's also an option that is laid out in the electricity documentation which says that you can have a -- one of the options that a company can use is an inflation-minus-X formula, but including capital modules to deal with the capital expenditures, the lumpiness factor.  My question to you really is that, did you build that into this analysis here?


MR. COYNE:  No, we only used the straight formula, the straight ICM.


MR. BRETT:  Okay.  All right.  Thank you.

Questions by Mr. Shepherd:


MR. SHEPHERD:  Sorry, can I just follow up on that?  The calculations you did here, did they look at -- they used the formula for the ICM, the Board's model, right, so calculating how much the threshold is and everything, all that stuff, and also included the I-minus-X component as well?


MR. COYNE:  Yes.


MR. SHEPHERD:  So it would be the same as an electricity distributor -- if you were an electricity distributor and this applied, this would be the same result.


MR. COYNE:  Well, it was the -- we calculated in the X that we calculated, and the ICM formula attached to the Enbridge capital program.


MR. SHEPHERD:  Sorry, you included the X you calculated?


MR. COYNE:  Yes.  What we did is we included the I-minus-X revenue stream -- yes, we used the I-minus-X revenue stream, and for -- in addition to -- and we also used the ICM -- the ICM formula, yes.  RIRX and the ICM formula for capital.


MR. SHEPHERD:  So your I minus X was about 2.5?


MR. COYNE:  That I was 2 point -- that's correct.


MR. SHEPHERD:  And you didn't have a stretch factor?

MR. COYNE:  No, we did not.


MR. SHEPHERD:  So you inflated revenues, the capital component of revenues, by 2.5 --

MR. COYNE:  Roughly two-five.


MR. SHEPHERD:  -- and then you added on ICM, using the threshold, using the Board's template.


MR. COYNE:  That's correct.  It was 2.45 percent, and in addition to that we factored in the growth in customers as well --


MR. SHEPHERD:  Of course.


MR. COYNE:  -- as contained in the Enbridge forecast and the ICM.


MR. SHEPHERD:  Thank you.  Sorry, Tom.


MR. BRETT:  No, thank you.  And then the -- just one other question, Mr. Kancharla.  There are a number of -- well, let me ask you.  With these categories of capital expenditure we were speaking of a few minutes ago, the GTA program, the relocation expenditures, and the integrity expenditures in respect of '17 and '18, those are -- in your parlance, those are Y factors.  Is that right?  They amount to Y factors?  In other words, they are pass-throughs under your system?  Either way, I guess.


MR. KANCHARLA:  For '17 and '18 these are variance accounts, not Y factors.


MR. BRETT:  Right.  All right.  But they're variance accounts, so your -- if the expenditure runs higher you recover, subject to prudency, right?


MR. KANCHARLA:  Yeah, the variance account --


MR. BRETT:  All right.  So they're variance accounts, and what you are proposing with the GTA is also a variance account?


MR. KANCHARLA:  That's correct.


MR. BRETT:  Okay.  Now -- and I think -- are you also -- would you also describe that as a Y factor, as Y factors, in your program?  I think, Mr. Fischer, you have been using the word "Y factor" a fair amount.  Is that -- are those what you consider Y factors, or something different?


MR. FISCHER:  I'm not clear on the difference between Y factors and variance accounts.  Typically Y factors are –- in my understanding, the term is used when it's something that can be -- that's being applied for and is known and can be quantified at the outset of an IR term.

MR. BRETT:  In other words, the gas contract, the gas costs.

MR. FISCHER:  So that's generally, I think, how the term "Y factor" is used.

MR. BRETT:  When Mr. Cass was asking Mr. Kaufmann yesterday about whether you could have too many Y factors, as a matter of principle, what I -- am I to take that to say how did you understand that?  Did you understand that to say -- to mean that -- Mr. Cass used the word "Y factors."  I assumed Mr. Cass was talking about things like the GTA, the -- what you've done, proposed here now for 2017 and '18.  And maybe other things, gas costs and the like.  Is that a fair assessment?

You seem to be -- let me make that a little better.  That's kind of messy.  You seem to be saying to me, I think, that you don't see much difference between -- that a Y factor is really -- it's much like a deferral account, with perhaps the exception being that in the case of the Y factor, you have no idea what the number is going to be?  In gas costs, for example?

MR. FISCHER:  Yeah, I think that would be how I would characterize a Y --

MR. SHEPHERD:  Let me just follow up on that, because we have two different sets of deferral accounts here.

In the GTA reinforcement and the Ottawa reinforcement, you have a deferral account –- a variance account, actually, that you are proposing, that is symmetrical, right?  And has no threshold; is that right?

MR. SMALL:  That's correct.  It's just for the GTA though. There's -–

MR. SHEPHERD:  Right.  For the GTA.  And for the mains and reinforcements for 2017 and 2018, you have a variance account which is also nominally symmetrical, but because it has a threshold, you can't actually ever give money back to the ratepayers.  So it is asymmetrical.  So it doesn't operate like a Y factor; is that right?

MR. SMALL:  Well, I have to perform the calculation I undertook to do yesterday.

MR. SHEPHERD:  Sure, but off the top of your head, it looks like that's the case, right?  It's not like a Y factor, because it's --


MR. SMALL:  My only concern about saying categorically is that it is cumulative.  So if we underspent in year 1 and in year 2, could it pierce the threshold?  I don't --


MR. SHEPHERD:  And you are going to do that calculation.  That wasn't what I was asking, sorry.

What I was trying to get at was it's not like a Y factor because it has a threshold, right?

MR. SMALL:  I agree with what you're saying.  I'm just not -- I would have to go back and review what the true definition a Y factor is.  That's the only reason I'm hesitating to definitively say.

MR. SHEPHERD:  Fine.  Thanks.
Questions by Mr. Brett:

MR. BRETT:  Just following up a little bit on that, would it be is it fair to say that the more, the larger the part of your expenditures -- and we're talking capital expenditures in this case -- are qualified for Y factor treatment or deferral account treatment, the less the risk is for you of being essentially saddled with capital costs that had you can't recover under your plan, the way your plan works?  Is that fair?

MR. FISCHER:  So, Mr. Brett, are you suggesting the more Y factors you have, the -- what are you asking again?  The more Y factors, the better ability to --


MR. BRETT:  I guess if I understand it properly, the -- you take the case of the GTA, and if you've got numbers in there, forecast numbers in there -- there are forecast numbers in the leave to construct case.  But if the costs turn out to be higher, the capital costs, as I understand it, you -- subject to prudency, you still can recover those costs if you have a deferral account treatment for it?

MR. KANCHARLA:  Maybe if I can clarify, the deferral account is only for relocations and mains replacements for years '17 and '18.  So for the IR term, the company is at risk --


MR. BRETT:  How about the GTA account?  I'm just talking about the GTA.

MR. KANCHARLA:  For the GTA account, as Mr. Small has explained, there is a variance account.

MR. BRETT:  All right.  I guess -- the point I guess I wanted to ask you about -- and I don't know whether -- you get to a point, do you not, that if you have a very, very large part of your capital plan, your capital budget, subject to Y factor treatment or deferral account treatment, that you are sort of back into cost of service territory.  I mean, you are going to recover your costs, whatever they happen to be?

MR. KANCHARIA:  Just taking the example of GTA, why we're proposing a variance account is because of the lumpiness of our capital spend for the GTA.  Our normal expenditures where we're seeing some increasing capital expenditures pressures are not subject to the Y factor or deferral account.

MR. BRETT:  I understand that.  You have some capital expenditures that aren't subject to it.  I understand it.

MR. KANCHARIA:  So the organization is at risk.  And I think we discussed yesterday and it's in the evidence as well, there are some elements what we call as available capital cost.  Where the company is at risk -- if those costs materialize, the company is going to invest in them, but at the risk of the...

MR. BRETT:  Okay.  Thanks.  Those are my questions.  Thank you.

MS. SEBALJ:  Anyone else?  Any follow-up?

I did have one follow-up question that came out of the exchange between -- having a hard time remembering now -- I think it was James and the panel, with respect to this question of the forecast, the issue that can arise when the difference between a forecast amount and the possibility for the inflation of CAP-EX forecast in order to maximize profits, and how we deal with the SEIM issue with that.

And I believe you gave an undertaking to provide references with respect to intentional over-forecasting.

I just wanted to point you to -- make sure I have the right reference here -- I guess it's Staff's IR 6, so it's I.AI.STAFF.EGDI 6.  And the question was:

"Please describe with references to relevant regulatory decisions the role that company forecasts play in the current regulation of UK and Australian gas distributors."

In that response, I'm not sure what the page number is, but...

MR. CASS:  Sorry, Kristi.  We're having difficulty get the right one on the screen.

MS. FRAYER:  I believe it's a Board Staff response to interrogatory.

MS. SEBALJ:  Yeah, it's Staff's response to EGD 6.  It's I.A1.STAFF.EGD 6, not EGD Staff 6.  It's a long response, but there's a paragraph that begins "Traditionally" on page 2 of 4, I think.  Keep scrolling.  Yeah.

So it says:

"The report described the capital expenditures allowed in gas distribution rates, i.e. the CAP-EX allowance, as follows."

And this is a report –- this is the Ofgen December 3rd, 2007 report, "Gas distribution price control review, final proposals."  And I just wanted to bring to your attention this quote from that report.  It says:

"Traditionally the cap-ex allowance is set based on our views of the GDM cap-ex forecast.  GDMs also have an incentive to inflate their cap-ex forecast in order to maximize their scope for out-performance.  There is also a significant information asymmetry between the regulator and the company.  It can be difficult for the regulator to differentiate between additional investment necessary to maintain network integrity and artificially inflated cap-ex forecasts."


I just wanted to give you an opportunity to address that and -- because I think that was what James was asking about.  And I think we have something from Ofgem that says -- that says that it is an issue, and I wonder if you have a response to that.


MS. FRAYER:  I think I already did address it, actually, because in the first question that -- and I apologize, I won't pronounce the last name correctly -- James had asked -- I apologize -- whether it's hypothetically possible that there could be gaming.  I thought my answer was very clear that I could never say, no, it's never possible that there could be gaming, and I think if you read straight from this quote, which is already in evidence, because it was an interrogatory response, it speaks to the fact that there is an incentive to inflate their cap-ex forecast.  It also talks about significant information asymmetry, which I didn't suggest there wasn't, and it then speaks to the difficulty to differentiate, which I conceded as well, that there needs to be a lot of effort spent analyzing the data, but nowhere does it say that there was found to be explicit -- basically cap-ex forecasts submitted that required Ofgem to go back and enforce sanctions to suggest that there was misinformation provided.


I think that was my point, that I have not seen any public reports that suggest that there was -- there was substantial evidence and conclusions made, like in an enforcement case, that there was intentional misconduct.


I think this speaks to what I suggested as well, that it's possible, but I don't think that this speaks to the fact that there was evidence concluded that it was done.


MS. SEBALJ:  Okay.  That's a good clarification.  I'm sorry, I thought you had suggested that there was nothing in the literature sort of about it, but I get the clarification now, that you are saying that there hasn't been a definitive finding of misconduct, and nor am I suggesting that there is any here, but thank you for that.


So I think we're done for today, and we'll start up on Monday at 9:30, unless anyone has any ambitious thoughts about starting earlier.  So let's start 9:30 on Monday with the next panel.


DR. KAUFMANN:  The next panel would be the -- correct me if I'm wrong -- the capital forecast panel.


MS. SEBALJ:  Thanks, everyone, and thank you very much for your very long stay with us.


--- Whereupon the hearing adjourned at 4:06 p.m.
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